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1. /which of the following degcribes L

g-commerce ?

(A) Doingbusiness electronically
(B) Doing business

(C) Sale of goods

(D) All ofthe above

2. / Which of the following is part of the four  2-

main types for e-commerce ?
(A) B2B

B) B2C

(C) C2B -

) _®) Allofthe above

. hich segment do e-Bay, Amazon.com

belong ?
(A) B2Bs
4B) B2Cs
(C) C2Bs
(D) C2Cs

/Wl';ich type of e-commerce focuseson 4,

i 2
consumers dealing with each other ¢

(A) BB
- ® BC
- (C) C2B
D) €2C
NUg.1x4ar (P)
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5. Which segment is e-Bay an example ?
(A) B2B
B) C2B
(C) C2C
(D) None of the above
6. Which type deals with auction ?
(A) B2B
(B) B2C
(C) C2C

(D) C2B
Pa

/’7/ 'In which website Global Easy Buyis. 7.

facilitated ? .
_kA) e-Bay.com
(B) Amazon.com
(C) Yepme.com
)} None of the above
/I.’;c best products to sell in B2C
= €-commerce are :
{A) Small products
(B) Digital products -

(C) Speciality products

(D) * Fresh products -

'NUS-15195 (P)
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i¢h products are people most likely
to be more uncomfortable buying op, (he

internet ?

(A) Books

(B) Movies

() Pumiture

i All ofthe above

10.  Which products are people most likely

t0 be comfortable buying on the
internet 7

(A} House

(B) (CDs

{C) Books

(D) None of the above

11. Digital products are best suited for B2C
-~

= e~commerce because they :

(A) are commodities like products

(Bj can be mass-customized and
personalized

(C) can be delivered at the time of
purchase

4D} Al of the above

12. Tpesolution for all business needs s

-

"

(A} EDL
B) S.CM.

_AC) ERP.

(D) None of the above

NUS-15195 (P)
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13. lﬁfthe following are techniques B2C 13.
/commerce companies use to attract
customers, except :
(A) Registering with search engines
(B) Virtual marketing
(C) Viral marketing
(D) Online advertising
14. Whichis a function of E-commerce ? 14.

(A) Marketing
(B) Advertising
(C) Warehousing

' All of the above

(&) Warehousing
(B) Marketing

WO ApNISnsdd° Mmm//:sdiy

(C) Advertising
(D) None of the above

Mfiich term represents a count of the o

number of people who visit one site,
click on an ad and are taken to the site
of the advertiser :

4A) Affiliate programs

(B) Click through

(C) Spam

(D) All of the above

NUS-15195(P) (5

15/ Which is not a function of E-commerce?  15.
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;17' \f\fhﬁrt 1S the percentage of cust
Omers

~" who Visit a website and ACtualy 1y
u

something called 2

(A) Affiliate programs
(B) Clickthrough

(C) Spam

(D) Conversion rate

18. What are materials used in production in

o
b

a manufacturing company or are placed
on the shelf for saie in a retail
environment 7

(A) Indirect material

(B) ED.LL

(C) Direct material

(D) None of the above

What are materials that are necessary
for running a modern corporation, but
do not relate to the company’s primary
business activities ? |

(A) Direct materials

(B) Indirect mateﬁals

(C) ED.L

(D) None of the above
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o

20 'ﬁ’/hat is the process in which a buy€?
.-',/-

posts its interest in buying a certaih

of items, and sellers compete

submitting

quaﬂtit}"

for the pusiness by

successively tower bids until there is
only one seller left ?

(A) B2B market place

(B) Intranct

(C) Reverse auction

(D} Internet

~1. "What are plastic cards, the size of a

credit card that contains an embeded
chip on which digital information can be
stored ?

(A} Smartcard

(B) FEDIcard

{C) E-govermnment identity card

(D} None of the above
22. Most individuals are familiar with which

form of e-commerce 7
(A)- B2C
(B) B2B
(C) C2B
(D) C2C

NUS-15195 (P)
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24.

e e

25.

L
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-

/’

23‘/ﬁzhich form of e-commerce Cugrently

accounts for about 97% of all
e-commerce revenues ?

(A) B2C

®) C2B

(C) B2B

(D) C2C

Wha,eh of the following are advantages
normally associated with B2B
e-commerce ?

(A) Shorter cycle times

{B) Reduction in costs

(C) Reaches wider audiences

(D) All ofthe above

/}'l)r/threat of new entrants is high when

itis:
(A) Hard for customers to enter the

market

23.

24.

25.

(B) Hard for competitors to enter the

market
(C) Easy for competitors to enter the
market

(D) Easy for customers to enter the

market

i’zﬁ. aisaPay is facilitated in :

(A) Amozon.com
(B) e-Bay.co.in
(C) Flipkart.com
(D) None of the above

Nus.151as5 (P)
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2?./(&1 of the following is a useful
security mechanism when considering

business strategy and IT ?
(A) Encryption

(B) Decryption

(C) Firewall

“(D) Alloftheabove

_-28.  Which of the following is not related to

security mechanism ?
(A) Encryption

(B) Decryption

(&) e-Cash

(D) Allofthe above

<
29./Wb:ch of the following statements

-

30. How

N1IS-15195 (P)

accurately reflect the impact of

technology ? .

(A) Technology has caused buyer
poﬁver to increase

(B) Technology has lessened the entry
barriers for many industries

(C) Technology has increased the
threat of substitute products and
services

_(_D} All of the above

the

e~commerce ?

}}) Using e-medias

(B) Using computers only

(C) Using mobile phone only

transactions occur jp

(D) None of the above
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3L, /Whlch type of products jg |esser

/" purchased using e-commerce ?

(A) Books

(B} Automobiles

(C) Software

(D} None of the above

A business competing in a commodity

must focus on which of the following ?
(AY Pnice

(B) Ease

(C) Easeof ordering

(D) All ofthe above

. Amazon.com is well known for which

e-commerce marketing technique ?
(A) DBanner ads

(B) Pop-up ads

(C) Affiliate programs

( D}/.. ¥iral marketing

}j}/‘What 1s the name given to an interactive

business providing a centralized market,
where many buyers and suppliers can
come together for e-commerce or
commerce-related activities ?

(82 Direct market place

@) Electronic market place

(C) B2B

@) B2C

3l.
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37.
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Which form of e-market place brings
together buyers and sellers from
multiple industries, after for M.R.O.

materials ?

" (A) Vertical

(B) Integrated

(C) Horizontal

(D) Inclined

Which form of e-market place brings
together buyers and sellers from the
same industry ?

(A)
(B)
(©€)
(D) Inclined

Hornzontal
Vertical
Integrated

Which type of ad. appears on a web
page ?
(A) Pop-under ad.
(BY Pop-up ad.
(G) Banner ad.
) Discount ad.
What type of ad. appears on top of a
webpage ?
(A) Pop-underad.
(BS Pop-up ad.
(C) Banner ad.
(D) Discount ad.

" https://www.ccsustudy.com

35.

36.

37.

38.

e A W DA & T, 3TN,
el 3 T % I & dew @

:ﬂmﬁ@?f&%mﬁﬂﬁwmﬁ
?

A) T

B) T

© &

D) g gom

96X 1 DT-T WY 0F & IGT D
gl MY fadarelt o cEam™ @
27

(4) &t

B) T

C) THEA

©) FH g

@ NG W B FER #
e & ¥ 7

(A 9 e #

®) -7 R

WO Apnysnsda mmm//:sdiy



WO ApNISnsdd° Mmm//:sdiy

39,/
e

40.

T

-

41.

42.

https://www.ccsustudy.com

39. UF AU B Hy fpm 9T B R

xi}hat iype of ad. appears under g web
page ?

(A) Pop-under ad.

(B) Pop-up ad.

(C) Banner ad.

(D) Discount ad.

Which, if any, of the following types

-of ads. are people most willing to

tolerate ?

(A) Pop-under advertisment
(B) Pop-up advertisment
(C) Banneradvertisment
(D) None of the above

Which of the following is an internet

based company that makes it easy for

one person to pay another over the
internet ?

(A) Financial cyber mediary

(B) Conversion rates

(C) Electronic bill payment

D) Ele;ctronic check

W}ﬁch of the following is a method of

" transferring money from one per son’s

INUS-15195 (P)

account to another ?
(A) Electronic check
(B) Creditcard

(C) E-transfer

(D) None of the above
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facility where the company can more
immediately after the disaster and
resume business ?

(A) Disaster Recovery Plan

(B) Hotsite

(C) Coldsite

‘QA}))’ Disaster Recovery Cost Curve
<~ If youneed to transfer money to another

person via the internet, which of the
following methods could you use ?

(A) Financial cyber mediary

(B) Electronic check

©)
) All ofthe above

Which of the following permits the

lectronic bill payment

transmission of a bill, along with
payment of that bill, to be conducted
over the internet ?

(A) Financial cyber mediary

(B) Electronic check

(C) Electronic bill payment

(D)"All of the-above

combination of software and information
designed to provide security and
information for payment is called a what ?
(Ay Digital wallet

(B) Pop-up advertisement

(C) Shopping cart

(D) Encryption

45,
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. 47. Whitis the name for direct compyter t0
| /computer transfer of trangaction

e o . - N

m B gy gt B o @y
information contained in Standard WT -4 A oar % 7
business documents ? A) Toere
(A) Internet ®) #

(B) E-commerce
(C) Electronic data interchange
(D) Transaction information transfer

interchange
(C) Electronic data exchange
(D) Electronic checks

(A) Use secure sockets layers
(B) Use secure electronic transactions
(C) Use electronic data interchange

(D) Use financial electronic data

interchange

L= .

©) FVRIws grer grecdel
D) e gam & ERIa

ig _Which of the following isusedinB2Bto  48. &g & fore LUGIE] A & g S
pay for purchases ? G ﬁ"*{ﬁ[f&rq % ¥ Rraem S9a e
(A) E-commerce Sireit % !
(B) Financial electronic - data (A) %‘W |

(B) [ sl 31T FUeES
(€) WREFE 2T s

®) T 35

49. Secure sockets layers does which of the 49, g’(ﬁﬁ Hiae o 7 & 9 T w5
following 7 g7
(A) Creates a secure (A) G H TN LS
(B) Encrypts information ®) T H UEE
(C) Sends information (C) & AWl S
(D) All of the above ©) IRF T«

50. When a transaction is processed online, 50. 9§ q9d @ ube AT ad 3,
how can the merchant verify the aQr sl EH N A T I e
customers’ identity ? HT T & 7
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' 51

he practice of forging a return address

51. T -
o that the receipient 13

on an e-mail S t
fooled into revealing private information
is termed

(A) Hacking

(B) Cracking

(C) Spoofing

(D) Dumpster diving

52/ '!What is a model of proposed product, 52.

service or system ?

(A) Prototyping

(B) Prototype

(C) Proof-of-concept prototype

(D), Selling prototype

internet that is guarded against outside
access by a special security feature
called a firewall ?
(A) Cli;:m network
(BY Intranet
(C) Extranet

) Thinclient

WO ApNISnsdd° Mmm//:sdiy

.54/ What isan intranet that is restricted tg 4.

an organization and certain outsiders,

such as customers and suppliers ?

(A)‘ Client network

(B) Intranet

(C) Extranet

(D) Thinclient
NUS-15195 (P) (10

»

53. t is an internal organizational 53.
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" recovering information oran LT, System

in the event of a catastrophic disaster
such as a fire or flood ?

(A) Disaster Recovery Plan

(B) Hotsite

(C) Coldsite

(D) Diaster Recovery Cost Curve

What is a separate facility thatdoes not ~ 56.

have any computer equipment but js a
place where the knowledge workers
can more after the disaster ?

(A) Disaster recovery plan
(B) Hotsite
(C) Coldsite

(D) saster recovery cost curve

system will be available for knowledge
workers to access ?

@A) Availability

@) Accessibility

(C) Reliability

(D) Nort€ of the above

. Which factor determines who has the 58,

ight to access different types of I.T.
Systems and information ?

(A)  Availability

(B)  Accessibility

(C) Reliability

(D)  Scalability
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59, Brt-ay a1 et e & s o
;oning correctly and proVidiﬂg W fﬁﬂﬂﬁﬁﬁ ERIN | Ha T H W
are functionl R '{ﬁ % eﬂ'{ m il

50 Aumich factor €nsures your LT, system®

)

accurate information ? W
(A) Availability (A) Iy
®) Accessibility ®) g
(C) Reliability (C) fqvgadrmar |
(D) Sedlability D) W ‘+
60. W'Iich factor represents how well your 60. ﬁ_'f‘m P T & 6 g RRE"T=
~ system can adapt to increased fhet ol e QA & §§ 1] %
demands? AR B G & 7
- (A) Availability A) I
] (B) Scalability ®) TR
g (©) Accessibility © W
£ Reliability @) Frerra
% ‘61/ Which factor represents a system’s 61-, BT B TS WUl B Fe) ﬂ
é ability to change quickly ? oM B FHAT B AR B B ‘.'4
S (4) Flexibility (A) TEREE
2 (B) Performance ' ®) wed=
(C) Capacity planning © AR T
) Bench mark D) ¥ 9%

62,/ What is a set of conditions useq to g BFHSTERA fired omE @ AR %

measure how well a product or System RIT I9ET & I el It B T ﬁé
function ?

a7 i
(A) Flexibility (A) R IGINE! [
(B) Performance ® Ctiul
(C) Capacity planning () & @ QT
D) /Bench mark - ' ) I T |

5 P o | H
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,-What determines the future I.T.

infrastructure requirement for new

6 .,
o
b

equipment and additional network
capacity 7

(A) Flexibility

(B) Performance

{C) Capacity planning

(D) Bench mark

64. What automates business processes ?
(A) Workflow
(B) AS.P.
(C) Workflow system

(D) E.LP.

65. What sends work assignments through

on e-mail system ?

(A) Database system portal
(B) Messaging portal

(C) Database system

(D) Messaging based system

66. \\{hét’:ﬁ will not harm computer 66,

N~ resources ?

#) Firewal
(B) Virus

(C) Trojan Horse

(D) None of the above

NUS-151a5 (P)
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64.

65.
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57.I Which is not a function of E.R.P. ?
(A) Warehousing
(B) Sales
(C). Scheduling

(lj] None of the above
68. Which of the following is the primary

characteristic of an intranet ?
(A) People outside the organization
can access it |
(B) People inside the organization
can’t access it
(C)~ People outside the organization
can’t access it
(D) None of the above
69. Which concept suggests that different
applications and computer systems
should be able to communicate with one
another 7
(A) Integration
(B) Interoperability
(& Webservices
(D Scalability
y"hich service encompasses g
technologies used to transmit apg
process information on an acrosg g
network ?
(A) Interoperability
}B) Web services
(C) Scalability
(D) None of the above

NUS-15195 (P)
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. 1‘/)yéch Process can prevent daty from
—<"los¢ due to computer problems or
human errors ?

(A) Backup
(B) Recovery
() Bench marking
(D) Dgtacleansing

72, Which process is used to reinstal] data

~- from a copy when the original data has
been lost ?

(A) Backup

(B) Benchmarking

WO ApNISnsdd° Mmm//:sdiy

(C) Recovery
(D) , Data cleansing

?3'/'%0 protects system from external

4 threats ?
(A5” Firewall
(B) EDI.
(C) ERP

~ ®©) Scriptkiddies

L . https://www.ccsustudy.com

7. ﬂﬁ?—?ﬁmwmﬁww

72.

73.
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74, Who- breaks into other people’s 74

_Computer systems and steals and

/ destroys information ?

(A) Softwares
(B) Hackers
(C) Hacktivists
(r?/ Script kiddies
75. /E.R.P. stands for
(A) Enterprise rcsoiution planning -
(B) Enterprise reverse planning
(CyEnterprise resource planning

(D) None of the above

(A) Legacy systems

WO ApNISnsdd° Mmm//:sdiy

(B) Bolton applications
(C) Operational database

(Dy Cyber soft

77./ Which is not a function of E.R P. ? 7.

(A) Human Resource Management
(B) Financial

(C) Warehousing

~

(D) None ofthe above

'NUS-15195 (P) )

75.

76. Which is not a component of ERP ? 76.
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t fl ite wi
hat Hoods a website wity, 80 many 78

requests for service that
of crashes ?

(A) Computer virys
(B) Worm
(C) Denial-of-service attack

(D) None of'the above

79 \W the process of making a copyof 79.
the information stored on a computer ?

(A)e Back up
(B) Antivirus
(C) Firewall

(D) Biometrics

30. at software detects and removes or

quarantines computer viruses 7
(A) Backup

(B Antivirus

(C) Firewall

(D) ‘Biometrics-

NUs-15195 (P)
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81, /\;‘Jhat is hardware and/or software that ~ 81.

82,

83. /‘;( hat scrambles the contents of afileso  83.

84 What checks out your computer or

'NUS-15195 (P)
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S

-~

protects computers from intruders ?
(A) Backup
(B) Antivirus

(C) Firewall

(D) Biometrics

All of the following are considered 82.

biometrics. except :
(A) Fingerprint
(B) Retina -

(C) Password
(D) Voice

you can’t read it without having the right
decryption key ?

{A) Encryption
(B) Intrusion-detection software
(C) Security-auditing software

(D) Al of the above

network for potential weaknesses ?
(A) Encryption

{B) Security auditing software

(C) Public key encryption

(D) None of the above

(24)

84,
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fchof the following to Viruseg hary, 7
») Your keyboard
®) Your monitor

(C) Your processor

(D). Viruses do not harm any of the
above

{6. Which of the following can a virus do ?

(A) Hurt hardware

(B) Hurt any file they were not
designed to attack

(C) Infect files on write protected
disks

(D) None of the above

/ L
-_}?\-/h{ simple terms, what does 118
1  assessment ask ?

(A) What can go Wrong

(B) How likely isitto g0 wrong

ible
© What are {he pnsslb

ifit does go WO

consequences

)D) All of the above

I~ . _ . . lﬂ\.
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-

- . ariRRRE - ?
/’” Unsolicited e-mail is called what ? 88 I = Y

-

Ay Junkmail (A) % Ad

.(BJ'l' Spam ® W

(C) Extramail (C) Tl A

(D) None of the above O) S F & B @

89. What is the name of the new anti-spam 89 B W Ram A R ?

bill ?
(A) -/
(A) No-Spam
(B) WH-31
(B) Spam-Away
(C) Can-Spam © -8
{D) None of the above D) ERRES Egﬁ’e‘ &t
y‘ﬁch itemcana passwc;rd beusedto 90. [ IMEH & TANT UrHEs g
protect ? : fora fopar o @A @ 7
(A) Network (A) T .
C ]
~_AD) Alloftheabove | o S .

NUS-15195 (P)
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54.

ofLT.2

(A) Information

(B) People

(C) Information technology

(DY Computers

Which of the following applies to the
implementation of an idca 7

(A) Copyright

(B) Intellectual property

(C) Patent

{D) Denial of service attack

What is the wunauthorised use,
duplication or sale of copyrighted

software 7

(A) Fair use doctrine

(B) Pirated software

(C) Counterfeit software
(D) Privacy

Which of the following captures screen
images 7

(A) Screen capture software
(B) Key logger

(C) Packet sniffer

(D) Log analysis tools

o1. TN MG o weit TEAYH Tew

92.

93.

94,

(21)

PA-ar ¥ ¢
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96.
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Which of the following examin
information passing through switchess

hubs, or routers 7

(A) Key logger

(B} Packet sniffer

(C) Log analysis tools
(D) Screen captures

Which of the following records logons

and deletions ?

(A) Key logger

(B) Packet sniffer

(C) Log analysis tools

(D) Screen captures

97. !f.;mail massages may be stored op
/"Whjch of the following computers 9
(-.

(A) Sender’s computer

(B} Sender’s server

~ (C) Receipient server

M All ofthe above

. NUS-15195 (P)
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Whgf{mi ght identity thieves do ith your

identity ?

(A) Apply for and use credit cards
(B3 Apply for a loan

(C) Change their identity

(D) Allafthe above

What is a programme, when installed on

o computer, records every keystroke

and mouse click ?
(A) Keylogger software

(B)/Hardware key logger
(C) Cookie

(D) Adware

ifiside software you do want ?
(A) Adware

(B) Trojan Horse Software
(Cy Spyware

(D)r All of the above.

98. AT SGH Ty 3 g I LI
g7

(A) AR 3 far onAe T AT
®) @ 3 R e

(C) &= ¥ R

(D) SRF T

g0, ET A I T FrRgEX W WA T
aﬁ@fﬁaﬁtmﬁlﬁiﬁﬂ%ﬁzﬁém

3
(A) F AR Gl
(B) eI W AR

C) TN
D) TS

. What% software youdon’t wanthidden  100. 8 dfreday M S T aeq § ™

T S AfFEIaT Wed 8, IED "I
four it & 7

(A) TEaaT

®) o B AW
©) =R

(D) I w4
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4, Four alternative answers are mention
for each question as-A, B, C &D in the
booklet. The candidate has to cho0S® the
most correct/appropriate  answer an
mark the same in the OMR Answgr-ﬂheet

asperthe direction
Example:

Question

w® @ © O

w® ® @ ©

Q3 (A ® ® ©

Tilegible answers with cutting and over-writing 0T

half filled circle will be cancelled.

5. In case the candidate does not fill the
appropriate circle in the OMR Answer
Sheet and leave blank ‘Zero’ mark will be
given.

6. The candidate has to mark answers on the

OMR Answer-Sheet with black or blue
ball point pen only carefully as per

directions.
7. There will be nonegative marking.
8. Examinee, please handover the original

Answer-Sheet along with University
Copy to the invigilator before leaving the
examination hall. Candidate can carry the
Candidates Copy and used Question
Booklet with him. (Student 18 supposed to
keep Question Booklet and OMR safe till
declaration of results.)

9. Rough-work, if any, should be done op
the blank page provided for the purpose at
the end of booklet.

10.  Write your Roll Number and other requireg
details in the space provided on the tige
page of the booklet and on the QMR
Answer-Sheet with ball point pen, Doy

uselead pencil.

11. To bring and use of log-book, caloulgy,.
pager & cellular phone in'exminaﬁo;l
hall is prohibited.
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b/14 Specified date, under Tax audit, Mean
......... of the relevant assessment

(A) 30th November
(B) 3ist July
(C) 31st March

.Z/(D) 30th September
- Tax Audit is compulsory fotj a profes-

- sional whose gross receipts from the
profession exceed ..... in any previous
year: l
(A) Rs. 30 Lakh
(B) Rs. 40 Lakh
(C) Rs. 50 Lakh

P (D) Rs. 1 Crore
3. Who can perform as a Tax Auditor?
(ﬁ«)]r Commerce Graduate
(B) M.Com. L.L.B
(C) Chartered Accountant in practice

)’M-BA' Finance e
L -~ The ceiling on number of Tax audits,

a Tax auditor can take in a Financial

*

WO ApNISnsdd° Mmm//:sdiy

Year is:
(A) 60
(B) 40
(C) 30
(D) 50
. ._.5*:”/According to AS-26, the useful life of
. patents is:
T(11'«1) 25 years
(B) 20 years
(C) 15 years
(D) 10 years
NUS-15192\812021

[3]

4.

5.

PR Fbar F Freiikd
GRS

(A) 30 TawaR

(B) 31 gamé

(©) 319

(D) 30 frerex

05 R =i 5 e ax sreewT A
# B T af ¥ 395 Wy & goa TRas

(A) 30 aRg I

(B) 40 Trg ®qy

(C) 50 ¢rg ® 9

(D) .1 &RE

IR IPBEIT T e B IR g 27
(A) TS Eas

(B) ©H.®M. UA.UA.4T

(C) PRIA UrtE vadi3veve

(D) vH.E.0. (FEH)

U TR 3PE U6 W W (06 fadg a)
3t e B BBl & Taa &:
(A) 60

(B) 40

(C) 30

D) 50
;g)jaggmq-zsﬂsmm(ﬁév—am
(A) 25
(B) 207
(c) 15
(D) 10a¥
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6. »M{]ch of the f"”.OW'ﬂg Can pe utills_ed
- o dist cibute dividends among Share

Ho."dﬁ'rs"
(A) capital Reserve

(8) Revenue Reserve
(C) Provision
__'(ﬂ) None of these

. Capital Profit can be utilised:

(A) To issue bonus shares
(B) To writing off Preliminary Expens-
es :

(C) Indistributing dividends
£ Both above (A) and (B)

receipt is a capital receipt because:
W It is credited to capital A/c
{B) Amount is large :
AC) Itis related to fixed assets.
(D) None of the above
n expenditure is capital expenditure
because:
(A) It is related to the benefit of fu-
ture .
It is related to benefit of current

(B)
year

Neither (A) nor (B) above
Because in it payment is made

lumpsum

(C)
(D)

a_D/Under which sectlonfof Company's Act

the remuneration of auditor has been
discussed?

~(A) 224

 (B) 225
(C) 142

(D) 231

_ NUS-1519218\2021

6.

10.

Rrafraa & & foad & SRR B eryrer
Ryafker Rear 1 T &

(A) Gt wEa

(B) SRmr Had

(C) 3maE=

(D) g & B &

N et a7 srdvr foam ST e &:

(A) drw sl & fonfaa &

(B) WRfisrs =t @ aferiad o< #
(C) wmvir feaRa & &

(D) 3I9de (A) T (B)

v wiT Ystnre it & aife:

(A) TE G @ ¥ o e

(B) fwn a8t A &
(C) uE Rl gwfy ¥ Jafad B &1

(D) 39 # ¥ B T

s = Yo =g gt & e

(A) TE Wiay & AW Q Fated giar 21

(B) U¥ K &t & W ¥ e Sar
2

(C) IRraT T (A) 3R 7 (B)

(D) T4 g T T WA vaea ae
&

Tl JiderE & MRS & ol aRe

Siftiforam B e et & srmier R e 7

(A) 224

(B) 225

(C) 142

(D) 231

https://www.ccsustudy.com
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.-_'_.In Partnership business the appoint-

ment of auditor is made:
(A) On the basis of Agreement
(B) On the basis of statutory provi-
sion
(C) Central Government
(D) Neither (A) or (B) above
-_"I;acking the bribe during the audit
course is: |
(A) Criminal Liability
. (B) Liability for Misfeasance
(C) Liability for Negligence
(D) None of these

13. When an auditor is punishable by pen-

alty or imprisonment or both, such lia-
bility is called:
- (A) Liability for negligence
(B) Liability for misfeasance
(C) Liability for simple errors
,AD) Criminal Liability

_ }}/ﬁn Private Companies at least what

should be the minimum number of di-

rectors:

~(A) 2

(B) 3

©) 4

(D)- 5 .
NU$-15'19_2\S\2021

1.

12.

13.

14,

[8]

AHERY
(A) Wit & smaR N
(8) durfm srawm & sMIR T
(C) T4 TBR GRI

(D) 3uda (A) 3R (B) &

(A) RIS afde
(B) eied ¥ & fore amfdd
(©) TR & fr e
(D) & A P T

519 U JIBETP P HMD-2U8 AT BRI U
2t o 8 3 & i e e e &
(A) TTRar & fore arfdra

(B) e s 35 o e

(C) amRor R & foe el

(D) amRTe A
frs el d B9 ¥ W oo waes @

uifge?
(A) 2
(B) 3
(C) 4

(D) 5
P.T.0.
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TN e Ist Chartered Accountant
15, When

T ¢ was passed in the world?

A

) 1880
@) 1890
(©) 1900
(D) 1932
16« when the Audit of Company Accounts
| was made compulsory in India:
(A) 1894
{B) 1914
{C) 1947
(D) 1952
17. Awditing is useful:
e f{:k} To detect Fraud and errors
(B8) To increase good will of concern
(C) To increase efficiency of workers
{D) Al of these
18, Institute of Chartered Accountants of
India (ICAI) 53 ........]
(A) Autonomous body
(8) Co-operative body
(C) Private body
(D)} None of these
15. Féliow members of ICAl can write

{D) None of these
NUS-15192\5\2021

15.

18.

17.

18.

19.

[e)

Wﬁmmmﬁéwﬁuﬁﬁm

a5 e foan AP
(A) 1880
(B) 1890
(C) 1900

(D) 1932

fopan man?

(A) 1894 &
(B) 19149
(C) 1947 &

(D) 1952 %

SpETT TIHETTS &

(A) M@Eﬁmfﬁﬂwﬁ
(B) T wgr ¥ s

(C) wHaIRal B SriewE TGH 4

(D) IRrEE T _
RO TS viEevsd JIM Institute of
Chartered Accountants of India (ICAI)

(D) ¥ A o

(A) 5. A ea. (F.C.S)
(B) endle. (M.B.A)
(C) m®. . v (FC.A)
(D) & & 2

https://www.ccsustudy.com
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o &7

- 7 Under which Act Audit is compulsory? 0. 3ideTr fir HfefaH &

(A) Partnership Act, 1932 (A) WERy s, 1932
AB) Indian Companies Act, 2013 (B) e gy e, 2010
(C) Both (A) and (B) ~ (C) Both (A) 7@ (B) '
~ (D) None of the above (D) IR & B TE
21 Achir's Account was excess debited by o1, 3R &7 Wl 9 5000 & i AT fegat
- Rs. 5000, where as Atharv's Account ™= 3‘3% snfa B @ w9 5000 a &
' was un;:ier debited by Rs. 5000 is .....: aw fearmar .. &
_-(A) Compensating Error (A) aifaR® sgfs
(B) Clerical Error (8) ffiera srgfe
= (C). Error of Principle (C) et sfa
g {D) None of the above : (D) 3vdaa # ¥ B S
g }24;:] the Chartered Accountant Act ‘22, wRA A WEE wwwtee U o aRd
_é ‘ of India was made: Sl ,
&  (A) 1947 | (A) 19477
% _(B) 1949 (B) 1949 #
ﬁ%  (C) 1956 (C) 19564
S (D) 1965 ' (D) 1965 N
Wﬁng beings whe:re: - 23. - 3o S R &,
: (A) GEOIE AT Bl 2

. (A) Book-keeping ends - _ o 21

. . d .
. /(B) Accountancy ends (C) (Investigation) A AT G|l

(C) Investigation ends N
(D) Vouching ends (D) O I B &1
24. Head office of 1.C.A.L is situated at: 24. 3 AW, T IUH Frafaa feg &
‘ (A) Mumbai , (A) ﬂaag - |
- (B) _Chennéi (B) o=E A
' _4C) Delni () feeh
(D) Koikata : (D) DB § |
[7] : P.T.O.

NUS-1519215\2021
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25, Kgi is mandaeY OF (compyisory)
..;k for:

i

() Religious Tusts
.(B) Joint stock companijeg
(c) Co-operative societigg
(D) All the above

26 Purchase of Rs, 5100 js entered as Rs.

<

—(C)

27.

2

1500 in the books of accounts is a
(A)
(B)

Error of Commission
Error of Principle
Error of Omission
(D)
The Error which affect both the sides

Compensatory Error

of Trial Balance Equally term as:
(A) Error of Commission

(B) Errors of Principle

(C) Compensatory Errors

(D) Error of Omission

. Allocation of Labourers in the con-

straction of personal Building engaged
in the Construction of official building
IS cvriirininens ;
(A) Embezzlement of Property

~(B) Embezzlement of Labour
(C) Embezzlement of Facilities
(D) None of these

29" Audit Programme should be:

(A) Flexible
(B) Clear-cut
(C) wider

D) All the above

NUS-1519218\2021

25,

26.

27.

28.

29.

(8]

3ipaor FfErd &

(a) e gt & ford

(8) wigam g bR B o

() weard et & ford

(0) R TR SRA

5100 ®T ¥ Y D) AT FID A 1500 TR
¥ forar e & a8 &

(A) @ @ 3fE

(8) dafae srgf

(©) v B 3I&

(D) iR e
o srpfe forrt qemoe & ARt ver T =

gt B &

(A) R B

(B) Haifas srgfeat

(C) efqe srgfemt

(D) ¥ & agpfs

BT WET & Her WAt B s s
fFefor A e o &

https://www.ccsustudy.com
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- W Fd B
30" Audit Programme implies planning of 39, 3idemT FrRiEw A
~ Audit Work by: A :
_(A) The Audit Staff (A) 3BT wp
(B) The Managing Director (B) W& Hareis
(C) The Accounting Staff (C) oE ®BI%
(D) None of the above (D) 3T # & B T
'H;‘t Audit Note Book contains: 31. 3iceror ol g & ferar ST &
“"(A) Varrious dates of reference (A) Wi & R Rt JftdT
. (B) Detail of work done (B) R T o & g a0t
(C) Notes regarding item requiring (C) TR, e SNt ¥ Ao war
| classification, explanation etc N Rufort
_{D) All of the above (D) e W
~32)\"An Audit Programme is Flexibly 5 “pp AGER ASEEE T B AHAT B
o planned procedure of examination” SreTT BT RN & aE gRW # -
This is defined by: (A) PYER &
(A) Kohlar
(B) Arthur W. Holmes (B) MR g&rY &
(C) W.W. Bigg . (C) =aq, 3&g, A A
(D) None of the above (D) FRvad ¥ B A&

33 Which of the following is a merit of Au-  33. 3i5&T0T TTUHH B T &:
* dit programme?

(A) Division of work according to ca-

pability (B) gFifea sRafa

(B) Fixed responsibilities

(€) Clear-cut instructions

) All of these (D) IR T
" A written Plan Containing exact details 34, e faRaa drr, fored et sicsaror faghy |

‘ regarding conduct of a particular audit J wraferd fé‘f{lﬂ Rraor Y 3
is called: i _ -

' 10T THYOT

(A) Audit Memorandum (A)

_ (B) Audit Programme (B) 3BEIUT HUBA
| (C) Audit Note Book (C) 3p&TOT gﬁaag[ (A I®)
(D) None of the above - (D) IR ¥ o &
NUS-151921512021 (9] - PTO.
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\}B"f'/ﬁoutine checking 15 done by,
A gmployees of the Concern

(B) auditors
©) Management
o Government

36. Test checking means:

(A) Detailed checking of some trans-
actions/items
(B) Checking of each item
. {C) Checking of ;sample transactions/
items
(D) None of these
37. ‘Audit Note Book’ contains:
(A) Various date of reference
{(B) Detail of work done
{C) Note regarding item requiring
dassification and explanation etc
(D) All the above
38. 'T;'te scope of work of Internal Audit is
" decided by the:
(A) Share holders
{B) Management
(C) Provisions of Companies Act 2013
(D) Government
_39. Internal audit of a business concern |s
done by:
{A) Employees of the organisation
(B) Registered auditors
(C) Eiected persons among members

WO ApNISnsdd° Mmm//:sdiy

of management
(DJ Repres.': rrEt -

NUS-15192.5.27°

35, e 3 D I ©

36.

37.

39,

a;,-_fﬂ'rﬁﬂ’im
(A) e &

(B) 3iers B

(C) WW

(D) ¥ § B T
sipemor Rrupoft geas A forar mar &

(A) o o fafim fafrar

(B) f&r ™ o @ fawga foawor

(C) TICIPRUT a0 T 3Nfe  wahem
Rufirai

(D) 3WRIaT wY

. IR 30T S B A7 o1 FeRor

ST &:

(A) swenRar & gry
(B) werersh & g

(C) Tt sfefrm 2013 % wraemi 3 g9
(D) &R gRry

SRS e w1 sl i B4

(8) “T’ﬁ??ﬂ&rasmm

https://www.ccsustudy.com
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40.

kY

42.

_A8)

/(D)
. Which of the following is correct:

. (A)

https://www.ccsustudy.com

"VOUChing is the examination and ay-
thentication of Underlying evidence
which is in support of the accuracy of

a transaction” This definition given by:

_(A) Athur w. Holmes

(B) J.R. Batliboi
(C) Arnold A. Irish

(DY None of these
41./

ain object of Vouching is:
(A)
(B) To obtain information regarding
the transactions related to busi-
ness hnp;sz-’-"ww\x',ccsusmdy.com
(C) Authorisation of transactions
All above
Auditing is the backbone of
Vouching

Vouching is the backbone of Au-
diting

(C) Vouching is the backbone of Ac-

counting

(D) All above

/e ;45’ "Vouching is the backbone of auditing"

this statement is related to the suit.....
(A) London and General Bank, 1895
(B) Armitage Vs. Brewar and Knott
1932

Mackson and Robinson incorpora-
tion Marie Land 1939

(®)

None of these

(D)

NUS-151925\2021

To prove truthness of transactions -

41.

42,

43.

[11]

(C) 3RATes.v. smefier &

(D) 3% # 9 2 Tt
YA T T4 3234 &

(A) orEl o Heaar sl @

(B) TMUR ¥ Iwfed a9-29 5 a@r T
EIE]

(C) orel &1 Hftrpa B

(D) @ ah

e o ol-ar v T &

(A) 3icemor, THIVE & 3G @ g5 B

(B) WHIUM, 3iaivT Bt g B 7S B

(C) i, YHIoH B g B 2ed B

(D) Iuxrda wWt
"SRTOT BT DI Jg DY 7SH 21" T- HUF

ey &  foow Taare & wvafem #:

(A) o< g A de faare, 1895

(B) 3nfifesT & dR UUs Hfe, 1932

(C) #we ovs Me—a FTERURSS, Wy
#ug 1939

(D) IR & PG T
P.T.O.
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ﬂ, Vouching °
m:
done
(A) statement of Profit ang | oes
(®) palance Sheet
(©) Assets Register

(D} All the above

45. Which one of the following is Trye: 4s.

(A) Entry can be made with out a
voucher
(B) Comparing the voucher with en-
tries is not essential
(C) There should be no entry without
voucher and no voucher without
entry
(D) None of these
-~ "Vouchers should be concerned with: 46
(A) Previous year
(B) Current year
{C) Audit period
(D) None of these
- Meaning of Verification of Assets js-

(A) Valuation of Assets
(B)

(&

F-3
~J

Checking of ownership of Assets

(C) Checking of the title, existence
and possession of Assets

(D) AN above

38. When Auditor has any doubt about the

valuation of Assets, he must disclose
this fact:

(A) To Secretary
(B) Yo Manager

AC) In his Report
(D) None of these

NUS-151921812024 (
12)

f opening entrieg ghould be 44,

47.

48.

(A) -y @ @

(8) fred

(€) it 31 I

(D) Fwgaa TR 3

(A) 2 yare & BT 63 3w 2

(B) ot @1yt ¥ T snavas T8
2

(C) o W wfafe o 7 @ 7w fw

OIE 7 & D% 09T TS T @)
forad ufefe = 21

(D) 3 & B &

. WIS e BN T

(A) Taafd

(B) g ad

(C) 3idseror 3rafr

(D) % ¥ B =

ol & e ¥ s 2
(A) Wl & qeaias

(B) wwferait & <anfire o st

(C) iRl & vy '
o feerren vet srferggon

https://www.ccsustudy.com
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51,

W
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Wh reserve is useful to strengtp, the

financiy, position of a business,
(A) Specific Reserve

~£B) Secret Reserve

(C) General Reserve

. (D) Redemption Fund
An Auditor is not valuer" This state-

ment is of:

~ (A) Joseph Lancaster
-~ (B) D. Paula

(C) Spicer and Pegler
(D) 1.R. Batliboi

ith of the following is Fictitious As-
set:

~{A) Goodwill

(B) Copy right
AC) Preliminary Expenses

___ (D) None of these

52 "Generally stock is valued at cost price

or market price which ever is less" This
statement is given by:

(A) D. Paula

(B) Henry Fayol

(C)_ Pigou

(D) Hanes

53. "Highest In First Out (HIFO)" method

of valuation is used:
» (A) When the price of material is in-
creasing ’
When the price of material is de-
creasing |
When the price of Material is con-
stant

(D) None of these

NUS.ar1a7 19024

49.

50.

51.

52.

93.

Fans

53 & fow
T oy e R T
ﬁn%ﬁsaﬁaﬂq-ﬂrﬁf‘“mg?
(A) TRy

 (B) T Wy

(C). WoRYy Wy
(D) o= Py

"SBEE et TR & g o RoTET &7
(A) I Fprex 3

(B) St.dten 3y

(C) WI5¥R vd thieR

(D) H.3IR. seder &

ﬁm%ﬁaaﬁ%ﬂq-%hﬁn(waﬁ}ﬂwﬁr
&?

(A) @

(B) ®fiRkme

(C) WRive ag

(D) 594 & o =&
"mmﬁ:ammnaqrammgmsh
A 9 o &), R i Rar s 2
TE T &

(A) . dar

(B) 2% ¥

(C)
(D) &=

"R & IoaeH ed UEdt Pt (HIFO)
faftr 1 s e &:

(A) @ T & qed 96 T ||

(B) 31& Wi T I UT & &Nl

(C) e vl 7 5 Rer &

(D) g A B T

https://www.ccsustudy.com
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j/In the palance sheet Contingent liabil- 54.

ities is shown at:
(A) Assets side
AB) Liability side

_a(€) In form of footnote

Ay

) None of above
5/5/:12in- cause of over and under valua- 55

” tion of Assets and liabilities is:

(A) Errors of principle _

(B) Clerical errors \

(C) Fraudulent manipulation of Ac-
counts

(D) None of above

56." In which case decision is that physical 56.

verification of stock is the liability of
Auditor:

(A) Mackson and Robbins

(B) Kingston Cotton Mill

(C) Union Bank Ltd. Allahabad

(D)~ None of these
527" Window-dressing implies: 57.

_~A) Curtailment of expenses
(B) Checking Wastage
(C) Under-Valuation of Assets
(D) Over-Valuation of Assets

58. Valdation of products related to the 58.

gardens is done at:
(A) Cost
(B) Market Price
~-(C) Cost or Market Price which ever is
less
(D) Net amount realised

NUS-1519218\2021 [14]

SR ot & T B RS ¥ Ry
ST 2:

(A) wwafy ger d

(B) aifireg gel &

(C) AcHwIH

(D) 3w & B T

aifregt gen wafadl @1 e e g
qedia fba oRoT Bl &

(A) Az Feat

(B) fofiadra srfe

(C) Wl & Bueyol uRare=

(D) IR # } By el
ﬁnﬁﬁsa#ﬁﬁmwmﬁ#ugﬁuhﬁm

T {6 wre & aRafds o ee S ST
3PETE B I &

(A) AT+ vos =

(B) THre= ofeT e .

(C) T+ ¥ fafes, saEErR

(D) IR F HIE &
S-S5 BT aread &

(A) =0 & s _

(B) Ts& HJs

(C) iRt & ow i ¥

(D) ruferat & siftrgeo &

TN [ Iyt o7 Geaieb fosan S &
(A) eI o)

(B) IR I W

(C) oW o SR g & S B9 &

(D) & % axeft STy At & IoH ¥

https://www.ccsustudy.com
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)mliminary expenses include:
(A) Cost of stamp and printing

59, mwﬁﬂlﬁﬁﬂﬁg:

(A) o7 & arra
22 :egal expenses | (B) ¥y oy
Nderwriting commission (C) IR anfrerg

D) Both (A) and (B)

o1t o (D) 3w (A) o (B)
°) T average Capital of Business is Rs. g aR g st & w0 5,00,000,

-

()]
st

WO ApNISnsdd° Mmm//:sdiy

NUS-1519218\2021

.. 200,000 average annual income Rs

80,000 and normal rate of return is

10%. Then amount of Goodwill by

Capitalisation method will be:

(A) 8,00,000 Rs N

(B) 3,00,000 Rs

(C) 50,000 Rs

(D) ;/0,,000 Rs

. Before Commencing the audit work, a

~company auditor should:

(A) Examine the validity of appoint-
ment

(B) Examine the statutory documents

(C) Study the previous year's report

(D) All the above

. Table "F" is substitute of:

(A) Memorandum of Association

(B)

(C) Prospectus

(D) None of these

Articles of Association

. Section 39 of Companies Act 2013 is g3

associated with:
. (A) Prospectus
(B)
AC) Minimum subscription

(D) None of these

Minute book

(18]

61.

62.

M af¥s sma 80,000 w0y aom A

TG R 10% #| @ FAeeor e A

eaitea sy & i 2

(A) 8,00,000 TG

(B) 3,00,000 F5

(C) 50,000 R

(D) 30,000 ¥9Y

3BEI0T B AR TA S §d TN Fperd

@ arfed fb -

(A) Frafem weeh sifg ax &

(B) Tawra B TPid BT AT W A

(C) Ta af 2 3icpaor RO 7 ez =
3|

(D) Iucfam

e ve faw &

(A) undz drmfraw

(B) 3w

(C) witaRo

(D) wwt o

wg ftfram, 2013 B G 39 wafyg #:
(A) mfdeRor A

(8) RfcgE ¥

(C) :qqaﬂaiﬂmﬂﬂ

(D) o & ¥ B T
P.T.O.

https://www.ccsustudy.com
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64. 'ection 55 °F COMPANies act 2013 IS 64. gy e 2013 FT TN 55 Tmafery
' ; ith:
aclat&d wit '
> (A) qpfﬁm‘rﬂmﬁ c2l ':'“iqqﬁ’?hﬂ‘:{

(a) 1s5u€ and Redempin of prefer-

ence shares (B) isﬁ N v
(8) Payment of Interegy out of capital
(C) Debentureg © ”F-UTE i
(D) None of abgye (D) e

(65. Reduction of Share capital requires 65, i o & @A B IFA P e &
the permission of-

(A) Central Government ) mE T
(B) National Company Law Tribunal (B) T e o St (N
(C) SEBI | (C) et
w None of above (D) = | B A& |
667" If the Share of Rs. 10, on which an 66, v 3 @ 46 10 ¥ &1 B ®
amount of Rs. 6 has been paid is For- T o YA B fear mn # wo e
feited, can be reissued at minimum e &1 39 =g 5 e W g: P
price of; ' fooar = BT 21
(A) Rs. 10 | (A) 10 TR
(B) Rs. 06 : (B) 06 FUY
AC) Rs. 04 (C) 04 T
(D) -None of these (D) s & P 7
67./__ The minimum subscripti,on_,._.w'ith appli- 67. Fr=fefaa & & 391 ¥ 3ifsg e & «
7 cation at least of face value: - . ¥ o1 {5 wferera wefr o3 & @ B
T AA) 5% e
® o ® oo
(C) 10% (C) 10 ufdem
P) 15% (D) 15 wftrerey
68/ Maximum remuneration of manager is 68 T & Yy @) Sy qRERS & RE
........... % of Net profit: & T B wiyera &
AA) 10% (A) 10 s
(B} 25% (B) 25 ¥
(€) 15% (C) 15 sfwm
(D) 5%
" (D) 5 wferer
NUS-151921812n21 r1a1
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o present doubtful report knowing js:

~(A) Criminal Liabilities

(B) Civil Liabilities
(C) Other Liabilities
(D) MNene of above

M Auditor can be held liable Under

71".".-

73.

Chartered Accountants Act 1949 for:
(A) Negligence
(B) Criminal offence

- {C) Professional misconduct

(D) Breach of contract

JFirst Auditor of a Company is appoint-
ed by:

(A). Promoter

(B) Central Government

~(C) Board of Directors

) Shareholders

. Auditors is Government Companies

are appointed by:

(A) Government

,_jBa/Comptroller and Auditor General

of India

.(C) President

(D) Prime Minister

In which of the following case decision

is given that an auditor should work

with diligently, carefully and factfully:

(A) Kingston Cotton Mill Ltd, 1896

(B) London Oil Storage Co. Vs. Sheer
Husluck and co.

(C) C.T. Bill Fire Insurance Co Ltd.

(D) None of above

NUS-15192\8\2021

69.

70.

71.

72.

73.

[17]

(A) TR afreg

(B) dar afe

(C) 3= R

(D) IR X P & .

aﬁmﬁaﬁiww%yﬁq@ﬁw"

P IARETA BET 37 Fba &

(A) TTRaTE & e

(B) TR afye & e

(C) ERI® R & fore

(D) wfdar 4 &= & fore

vF SRF § TUW e B Frgfem o St

'%:

(A) ¥ad® GRT

(B) T WHR §RI

(C) I HUSEH ERI

(D) srenial gr

W Fwl § sivead B Frgfa o

S &:

(A) TSR gRI

(B) ¥Rd & Fo=e a1 WEoar Wies
BRI (CAG of India)

(C) fdt T

(D) WowEA R

Pt # & 5w Rar # 3r Fok e

T R e B 3 o e dwa,

e quT O ¥ B Aifed?

(A) free dfen few for. 1869
(B) mraw Mgw WRS & &M K
O UUE B |
(C) @aﬁumwﬁwm fa.
(D) Fwew ¥ é T
PT.O.
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75, Section 66 of Companies Act, 2013 s 75,
76. Civil’

— for:

NUS-15192\8\2021

721'. Which

] (B)

(C)

https://www.ccsustudy.com

degcribes the dutieg of auditor:
section 143
gection 142
section 140

(D) Section 141

associated with:

(A) Reduction of share capital
(B) Reserve capital

(C) Share certificate

(D) Share warrants

(A)

~(B)
(C)

(D).

Willingly making a false state-
ment

Negligence

Mis-statement in prospectus

_ Al the above
77._.,Damage will be recovered from auditor 77.

for his misfeasance only in case when
it is proved:

(A)
(B)
(C)
(D)
as:
(A)
-(B)

(C)
(D)

hen auditor not disclosed the misuse
of Funds by management, it Is termed

it was the duty of auditor for his
client

Auditor has not performed his
duty .

Client has suffered loss due to
non-performance of duty

All above

Negligence
Misfeasance
Criminal offense
All above

[18]

gection of the Company Act. 74,

liability of a Company Auditor is 76.

78.

Far PR, 2013 B T8 o1 3 sidbars

¥ Fdat o O & p
(A) GRT 143 \
(B) ©RI 142
(C) ®RT 140
(D) ORI 141
m.,ﬁaquﬁuqzmaa%mewwﬁuag:

(A) i i ¥
(8) gfem LN
(C) 39 y\or-9a

(D) ¥ AR<T
F & UF FHUD P Alar A drar &:

(A) aﬁwﬂﬁﬁﬁmaﬁﬂ?

(B) EGRER! W

(C) wfdaRor & mad fdavor & )

(D) IR gt

Heied W & fore &1 fow ae & Wi

B W aga fear s

(A) 3icHeiss 1 ard) & wfr s o
(B) I8 39 iy &1 urerT &Y
(©) 39 TR a1t B @ Fo o

(D) Iw¥aet

TS TN B & g @ sine A9
R = &y 8.
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79.

80.

81,

o]

83.

https://www.ccsustudy.com

-

N auditor may be penalised by an im-
prisonment for falsification in accounts
for a mf;xlmum period of:

{A) 7 years

(B) 6 years

(C) 3 years

(D) S years

According to which section of Compa-
nies Act 2013, an auditor should sub-
mit his report?

(A) 141

(8) 142

(C) 143(1)

(D) _143(2)

_#Clean Auditor's report is one in which

auditor:

(A) Describe some errors

(B) Describe only frauds

(C) Describe errors and frauds

LD}))@S not describe any error, fraud
" and irregularity

. Beneﬁt to Shareholders from audit re-

port is:

(A) Information
honesty

(B) Information about safety of their
capital

(C) Helps in Taxation

(D) Information about the efficiency
of directors and Financial Position
of the Company

An auditor gives qualified report when:

(A) There is mistake of employees

(B) Directors work autocratically

(C) Employees do not indulge in Fraud

(D) Accounts are not kept properly

NUS-1519218\2021

79.

80.

81.

82.

about employee's |

83.

[19]

Pt

Mﬁmmmﬁwﬁ

Rt a oy o @) s

(A) 7TTEH

(B) 6 &

() 3T H

(D) 53§ &

P & & @ e, 2013 P

Rew ORI & I U aidves B I

R &0 B &

(A) ORT 141 & Fatia

(B) ORI 142 & 3=t

(C) ©RT 143(1) & FF=wta

(D) ORI 143(2) & 3=

e @ Fpern yade (Rae) o @ ot

3eEI

(A) & Al B a0 Sl &l

(B) ¥3el DU BT qUH T 2l

(€) Fedt wd P! 1 Fof FRell &

(D) s 3, Bue ar sfwfiaar & e
2 B

gipemor e A siwrenial o aw

(A) THaRAl B $AFERY & T4 D &
(B) 3T & JRI& & 2|

(C) ax FraRor A #ee firer 21

(D) Wurer®l B FRiaEr Td S D)

i Rt &t s wra 2F )
U 3ipaids Haliea RO 34 Twg ar & 5@
(A) ST dR $ FhaRAl 3 e @ 2
(B) ! N weHER B &)
(C) wiaRal % o pue 7 o 8
(D) TR IR wopR ¥ e 7@ M &
PT.0.
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pies (Auditorg Report) order
me in to effect ff'Or‘n: '
; st July 2003

(8) Ist January 1975

() Ist July 1975

L(D) IstJanuary 195¢

. How many types of aygit reports are

there?
(A) 2
(8) 3
(C) 4
(D) 5

- Cost Audit is started in India:

-
-

(A) 1913
(B) 1935
(C) 1949

(D) 1965

Under which section of Companies Act
2013. Central Government may or-
dered for cost Audit.

(A) Section 143

(B) Section 148

(C) Section 146

{@) None of the above
. Qualification of Cost Auditor is:

9.

AA) Chartered Accountant
' (B) Cost and works Accountant
(C) Commerce Graduate
(D) Al above
Cost Audit report is to be furnished:
(A) Within 90 days of the end of rele-
vant year ‘
(B) Within 180 days of the end of rel-
evant financial year
(C) Within 30 days of the date on
which the relevant records are
made
At least 21 days before the date
of annual general meeting of the

Company

(D)

84,

86.

87.

88.

89.

mﬁ(%ﬁw)mw@=

(A) 1 gené 2008 ¥
(B) 1w 1975

(C) 1%‘&]{ 1975ﬁ
(D) 1 i 1956 3

(A) @

(B) &

(C) TR

(D) dfa

WIRe 3 T 3iRpEUT IR B3 &:

(A) 19139

(B) 19359

(C) 1949 ¥

(D) 1965 ¥

s sftfow, 2013 & Feafolag & &
5 aRT & T Bad WROR GRT AW
3ip&T0T 1 3MeY fear 3 e 2

(A) ORI 143

(B) ©RT 148

(C) ORI 146

(D) ¥ & B &

TR 3idbeTed ot dngar &:

(A) TS PR

(B) @I AUt (CWA)

(C) o= wEs

(D) T § P 7

T Sioeror Rard & e &:

(A) wrfea af & wafa % o0 R &
R

(B) wua fadrg af o wmifty & 180
Rt & s

(C) e el % dar a3 % 30 R &
WeR|

(D) ai¥e wmemor e & =g 21 R
@
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90.

91.

92.

93.

94.

b

L4

“(A)

https://www.ccsustudy.com

The Company shall with in ...... o from
the receipt of cost audit report furmgp,
the Centrg Government explanation

EVery qualification contained there in;
(A) 30 days

(B) 40 days

(C) 50 daVS

(D) s0 days

The Institute of cost and works Ac-
countants of India was established in-
(A) 1949

(B) 1944

(C) 1959

(D) 1914

Where management was first used?
(A) Japan

(B) America

(C) India

(D) None of these

Management audit is a:
(A) New Concept
(B) Traditional Concept
(C) Medival Period Concept
(D) I‘!gne’of above

gbj'e'fstive of management audit is:
Make management more efficlent
Detecting short comings of man-
agement operation
Making cordial relation with em-

on

(B)

(C)
ployees
) All above

’Management Audlt is:

| AA) Compulsory
' (B) voluntary

(C) Statutory
(D) None of these

P |

91.

92.

93.

94.

95.

[21)

PITT Sidner R T BV ﬁ;

B T W st (Qualifications)

T X Wy e ) ST HAT

HEALAD A

(A) 30

(B) 40

(C) 50

(D) 60 ,

& FRIGE 31 Bie vz 7wk ppITA

a?twmfﬂg:

(A) 1949 #

(B) 1944 ®

(C) 1959 ¥

(D) 1914 %

yaer 3ihETOT BT AR SANT BT T2

(A) IO #

(B) 3®R®T A

(C) ¥RdH

(D) IR 3§ B &

WE-ET 3BEIT &:

(A) &M farery

(B) RN fraRuRT

(C) WP faRuRT

(D) TR § F DB &

YA 3T B X &

(A) WU o ST Bt TR T

(B) oy WenE W B B g

(C) W ¥ SdaRal B oy e @
R

(D) IR ¥

waey 3idneror &:

(A) HFvard

(8) Mo

PT.0.
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. g '
9}// nageme”t Audit, evaluation ! 96
ma
" e of the:

ing dom
be g-ost Accounts

(8 ;nandal.Accounts |
© managerial Functions and poli€s
(D) _Assets and Liabilities .
5?,.,_/wﬁaut is essential for measuring €ffi-
" _ciency of management?
(A) Social Audit
(B) Cost Audit
(C) Tax Audit
~{D) Management Audit
18, When the Tax Audit of accounts was
made applicable for the first time in
~  India with effect from the assessment
year?
(A) 1984-85
(B) 1985-86
(C) 1986-87

WO ApNISnsdd° Mmm//:sdiy

(A) 44 AA
 (B) 44 AB
(C) 44 AC

44 AD '
100. Tax Audit is compulsory for a busi-

nessman whose total Sales/Turnover
.or gross receipts in business exceeds

-------

[22)

97.

98.

(DY 1990-91 '
99, Tax Audit is compulsory under section? 99.

100.

Wﬂwmﬁaﬁwwmé?
(-A) qfs® HHET
(B) e P
() @R DT
g 3B
«ﬁa 5 e aiper0r &8 & R af 9
yRe fesan TAT?
(A) 1984-85 ¥
(B) 1985-86 ¥
(C) 1986-87 ¥

(D) 1990-91 ¥
X 3iperoT Rew oy 3 e 89

(A) 44 AA
(B) 44 AB
(C) 44 AC

(D) 44 AD
IR B0 ¥ =auR % R aREd 2
oot Refl/eRaR aremr iRt g at &

(A) 50 oIRg Ty
(B) 130z v
(©) 2 e v
(0) I # g =t
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(20320) |
B.Com.

- I1I Year

US-15191
B.Com. (Annual) Examination, 2020
COMMERCE - I

CORPORATE ACCOUNTING
Question Booklet Series (C-301)

Question Booklet

Q

T etk el v W)

Number

To be filled in by the cand’ -
Roll No. (in figures) [Maxlmum Marks : 100
IIPAID (3Dl ) _L:;rfélamﬂ 3i® 1100
Roll No. (in words) 3772 [T ime : 2 Hours
R (el 4) [wra:2a% P
Enrolment No. (in figure:'

 Name of College SigGre of Invigilator
DS D1 ™ e | e &s ERIER
Instructions to the Examin. wianfeal & f?"? fade
1. Do not open the booklet unless you 1. Wgﬁﬁﬁlaﬁﬁ’aﬁ#@ﬁaﬁmm

are asked to do so.

2. The booklet contains *”A questions.
Examinee is required to answer all 100
questions -in the OMR Answer-Sheet
provided and neot in the question

booklet. All questions carry equal marks.

3. Examine the Booklet and the OMR

Answer-Sheet very carefully before you
proceed. Faulty question booklet due to

missing or duplicate pages/questions or
having any other discrepancy should be

got immediately replaced.

(Remaining Instructions on last page)

@l | el

we-gRa@t A 100 e &1 Riemef B
¥ vl @ HIA & T OMR ITRR-
e W & & B 8, We-giae @«
| wf gz & 3ie THE )

Wt & FoR 3iftbd B A GF we-gRaT
TT OMR HTRR-ENE B CC)
1 2 R e s T o
¥ G T 8 a1y v & HiUS TR Ty T
g a1 39 TR0 30 TOR & e A, )

T wA Al
(9 P sifery 48 W)
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Given : Profits for the last three

years: :
2012 : ¥ 40,000 (including specu-
lation profit of ¥ S,DOO)
2013 : ¥ 50,000 (after charging
an abnormal loss of ¥ 10,000)
2014 : T 45,000 (after charging
loss of T 4,000 from earth quake)
The average profit will be,
(A) ¥ 45,000
(B) ¥ 48,000
(C) T 49,667
(D) ¥ None of these
Share Capital :
1,000 14% Preference Shares of
< 100 each -
20,000 Equity shares of ¥ 10 each
Annual Profit before tax= '
< 2,05,000
Tax Rate = 50%
Transfer to, General Reserve =
20%
Normal Rate = 20%
Value of Equity Share will be.
(A) T 10
(B) T 12.50
(c) T 17
(D) T 18.33
When the risk of investment in a
particular unit is high, Price Earn-
ing Ratio of that Unit,
(A) will be high
(B) will be Low
(C) will be affected
(D) will not be affected

US-15191/Q

B

1. Rerd T & aot b om
2012 : 40,000 ¥ (5,000 T ¥ ¥ &y

wfefer B &)

2013 : 50,000 T (10,000 T & 3grerRoT
- g e B & IgE)

2014 : 45,000 ¥ (31T & 4,000 I &
&1 15t & & UeEn)

st omyy g

(A) T 45,000

(B) ¥ 48,000

(C) T 49,667

(D) & A B3 &

sie o0 -

1,000 14% Yaif&rbR 3721, 9edd 100 I
20,000 9T 39T, Ad® 10 ¥

X gd e o = 2,05,000 T
W = 50%

T 9ad ¥ 30T = 20%
WA &R = 20%
.ﬂﬁaraiaﬁairﬁm'sﬁm=

(A) T 10

(B8) T 12.50

(c) T 17

(D) T 18.33

79 o faftre soré o R o
SiRew 3 & O 3W TP B T
o1 BT U :

(A) Far &nm

(B) rar &

(C) wenfda @nm

(D) werfaa =& g

P ITQOI
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Calls paid in advance account is

shown separately on the.

(A) debit side of Profit & Loss
account

(B) credit side of Profit & loss ac-
count

(C) liabilities side of Balance Sheet

(D) assets side of Balance Sheet

One person company is that in which:

(A) There is only one director

(B) There in only one member

- (C) There is only one employee

(D) Nene of these

Which of the following is required

for making a scheme of capital

reduction IegaI?L

(A) It is authorised by articles of
the company

(B) A special resolution is passed
to that effect

(C) It is confirmed by Tribunal

(D) All the above

Under the

'reorganisation of the company, if

scheme of

the creditors are willing to reduce

their claims against the company,

then the amount of reduction in

their claim will be transferred to.

(A) Share Capital Account

(B) Creditors' _Outstanding Claims
Account

(C) Capital Reduction Account

(D) Capital Reserve Account

US-15191/Q

[4]

(A) TTH-EIN @ & AW a8
(B) omy-gif @ & o Ut
(C) fued ¥ et w&
(D) fug & wwfr uer

% Afth HWAT 98 & foraH ¢

(A) &dcT U TITED &

(B) thacl U Fedd &

(C) ¥aa U® HHAR! &

(D) ¥ A B Tt

$ e G B e T B
fore PrfarReer i % e anfer &2
(A) TE BRI B FAMTA gRI DA
i1

- (B) sﬂﬂs%vﬁa‘rﬂmmﬁﬁ%m

T #1.

(C) fegTa et 5w Ui ot o1 gt
gl

(D) 394 |

T & T B Ao B s

e BFER B & fawg T T @
o B 5 593 & o b i § o
DY AT ARG &7 SRAT -

(A) 3 TN @ @

(B) TFRERI ¥ e &l @R @
© ot ads

(D) Uit Tog @R B

~ https://www.ccsustudy.com
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After the debentures are re-
deemed, the balance in the Sinking
Fﬁnd is transferred to.

(A) General Reserve

(B) Profit & Loss Account

(C) Capital Reserve

(D) Debentures Account

When own debentures are can-
celled, profit on cancellation is
transferred to.

(A) Profit & Loss Account

(B) General Reserve

(C). Capital Reserve

(D) Surplus Account

When two or more companies lig-
uidate to form a new company is
called:

(A) Amalgamation

(B) Absorption

(C) Internal Reconstruction

(D) External Reconstruction

According to AS-14, amalgamation

US-15191/Q

8.

10.

11.

ROITET & Sem & uvaE RHfdT wog

R S ay S—
(A wARg wfafr o

(B) TH-EIM & P

(C) Usinma wfafy &

(D) FoI9F @ &

39 9-HOIT e 6 I &, Xeg A
R oTH &R fobdr 7T &

(A) - & @

(B) WY wfeld @

(©) e iy

(D) 3nftray @i @

Fd U 8 HrHl @ Tl & fordr & an
Hftre Twrafralt o1 e foan e & o
39 &F @ ¢

(A) T@IEROT

(B) Hfaeam

(C) 3raRe Ao

(D) srer grfFafor

OB HHIU-14 & 3R[ER TSGR0 $
TERE ¢ . |
(A) 1

(B) 2

(C) 3

(D) 4

P.T.0.
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Holding Company purchased
20,000 out of 25,000 shares of
10 each of subsidiary company at
Y15 per share. On the date of pur-
chase, the subsidiary company had
profits of ¥40,000. After two
months, the holding company sold
3,000 of these shares at ¥ 20. per
share. At the end of year, the

amount of capital reserve or good-

will to be shown in consolidated
Balance sheet will be :

(A) T 68,000 Goodwill

(B) ¥ 51,000 Capital Reserve
(C) T 51,000 Goodwill

(D) T 68,000 Capital Reserve

Opening balance in P. & L. A/C of
< 4,00,000
Profits earned by holding company
during the year T 1,00,000
Interim Dividend received from sub-

holding company

sidiary Company < 30,000
Post-acquisition profit of subsidiary
company < 20,000

Holding company's share holding in

subsidiary Company 60%
Unrealised profit included
in stock 31,200

consolidated profit will be.
(A) ¥ 4,80,800
(B) ¥ 5,10,800

(C) Z 5,18,800

(D) Z 4,90,800

61

12.

AR FREh ¥ werd S & 10 ¥
afy 3 25,000 37 # ¥ 20,000 3 153
ufer 3791 B X ¥ Fa 6| BT @l

R GEI® B! BT ard 40,000 T 7]
2 HIE A& AR SR 7 &7 o0 A F
5,000 3797 20 T ofer 3197 B X |

R 7 o it w e g Rers

13,

Y A 5 ag o @ @
(A) T 68,000 W

(B) ¥ 51,000 T3t werd

(C) ¥ 51,000 =l _

(D) ¥ 68,000 i e

TUR! N & av-ae

¥ yrfivs 9 T 4,00,000

of & ARA Tk S Y

oy 3 far - T 1,00,000
HEdS TR I 3R
AHET T 30,000
TS S & 59 W 04 & AW

% 20,000

| YR FEA BT WEAS HL A

60%
Y H At sFlsia ome T 1,200

(A) T 4,80,800
(B) T 5,10,800
(C) T 5,18,800
(D) % 4,90,800

https://www.ccsustudy.com |
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14. Premium on Issue of shares Is de-

termined by :
(A) Company Law Board
(B) Government
(C) Issuing Company
(D) SEBI |
15. A public company can issue.
(A)
ferred shares
(B)
(C) Ordinary and promoter's
shares
(D) Equity shares and bearer de-
' bentures '

[y
o3}

. DEbentureho.Iders are. .
(A) Creditors
(B) 'Owners
(C) Customers
(D) None of these ,
17. Loss on issue of debentures is in
the nature of :
(A) Personal Account
(B) Real Account
(C) Nominal Account
(D) None of these
18. SEBI guidelines in respect of re-
demption of debentures are to pro-
tect the interest of :
(A) debentureholders
(B)_ | Creditors
(C) Shareholders

(D) Bankers

US-15191/Q

Ordinary, preference and de- .

Equity and preference shares -

[7]

14.

15.

16.

18

. (D) Tuar 3 3R IES FOT U

3 & i w i FeiRa dar &
(A) T @ &5 gRT

(B) ¥R GRI

(C) A B ael T GRT

(D) J¥F gRI

e st e FRifHT o) aa
(A) Ry, gEffter) 3R sl
(B) e iR qafferent srer

(C) woRYT 3R Fad & s

FOFUR &

WO ApnIsnsod - mmam//:sdny

. FWOTA] P MU B T N A& B

Rerfdwr......... fRazeme A d:
(A) FOUFNRA! &

(B) TFERI & |

(C) 3wl &

(D) 8 &

P.T.0.
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19,

20,

N
=t

22,
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If debentures of ¥1,000 was pur-
Chased for 7 980, the difference of
X20is :

(A) Profit on Redemption of De-
bentures

Loss on Redemption of De-
bentures

Goodwill

None of these

(B)

(C)
(D)
If the purchaser company Issues
fully paid shares of ¥ 1,00,000 in
consideration of net assets of

<1,20,000,. the balance of 320,000
will be credited to :

(A) Goodwill Account

(B) Capital Reserve Account
(C) Vendors Account

(D) Profit & Loss Account

. Pooling of interest method is related

to:

(A) Amalgamation

(B) Absorption

(C) External reconstruction
(D) Internal reconstruction

Time gap between the close of the
financial year of the subsidiary
company and that of the holding
company can not exceed.

(A) There should be no gap
(B) 3 months
(C) 6 months
(D) 9 months

i8]

19. =f¥ 1000 ¥ T FoTax 980 T A HY fovayy

20.

21.

22.

A0 T H IR E :
m’ﬁa’fﬂim’rﬂqwm
(B) FUIE & W W &1
(C) wfa

(D) & & &I Tl

gife gl R 1,20,000 ¥ B P et
¥ wirwer # 1,00,000 T B qofew 37
fifire el & ar 20,000 T &1 9w e
fesar s -

(A) =R | B

(B) Yot WTg @I B
(C) fagar @mY &

(D) @48+ @ B
foell @1 Tdiawor Tehy
e g

(A) UdaRoT

(B) wifdere

(C) st& qAfwfor

(D) 3miRe gffufor
FETTD SR U et pwr & faeiia
st 2t Ty & Ry % R o ity
IR T8 BT e

(A) ﬁﬁaﬂs‘amqé}maﬁa
(B) 3 wme

(C) 67E

(D) 9 =g
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23.

24.

8]
o

26.

https://www.ccsustudy.com

23, w8 § 3t ey gArafara fesar smen

The Unrealised profit in stock is ad-

justed.

(A) It Is deducted from holding
company's profits

(B) It is deducted from stock In
consolidated Balance Sheet

(C) (A) and (B) both

(D) No adjustment is required

Shares of a private company can

be sold through :

(A)

(B)

(©)

Private circulation

Stock exchange

Private circulation and stock
exchange

None of these

(D)

. 10,000 equity shares of Y10 each

. were issued to public at a premium

of T 2 per share. Application were
received for 12,000 shares.
Amount of Securities premium ac-
count will be : ‘

(A) ¥ 20,000

(B) T 24,000

(C) T 4,000

(D) ¥ 1,600

Premium on Redemption of Deben-
tures Account is a:

(A) asset

(B) liability

(C) expense

(D) revenue

US-15191/Q

[9]

24.

25.

26,

'g:

(A) T8 AR TR S ATH J gor
s

(B) g wifa fied # vy & wern
S &

(C) (A) 3k (B) aFfi

(D) F5et wrdio &t sragadar TEl

Ryl R & 3iel B g9 3T e &

(A) P 5OR A |

(B) @4 fauftr Az &
(C) Frof yaR 3R sy faafor wmeam

¥
(D) & & BI§ el

¥ 10 wifr 3791 @Y &X & 10,000 FHAT 3
S @ 2 i 3 & iftem w Pt
R3] 12,000 37 Y e AT
@ & S gt e 8

(YT 20,000

(B) ¥ 24,000

(C) T 4,000

(D) T 1,600

ForEt & e W AR @ g
(A) W

(B) @@

(C) =g

(D) 3mm

P.T.O.
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27. According to schedule-III of Com-

28.

-

Wwod Apnisnsod mmam//:sdyy

30.

29.

Panies Act 2013, debentures are
shown in the company's balance
sheet under the head:

(A) Shareholder's Funds -

(B) Share Application Money

Pending Allotment

(C) Non-current Liabilities

(D) Current Liabilities

Creation of debenture redemption
reserve is necessitated by:

(A) SEBI '

(B) Companies Act

(C) Central Govt.

(D) (A) and (B) both

For non-banking financial comﬁa-
nies registered with R.B.1., the ad-
equacy of D.R.R. for debentures is-
sued through p:i:blic issue is......... of
the value of debentures.

(A) 100%

(B) 50%

(C) 25%

(D) Zero

In case of amalgamation in the na-
ture of purchase, assets and liabili-
ties are entered in the books of pur-
chaser company:

(A) at book value

(B) at market value
(C) atrevalued value
(D) at written down value

ys-15191/Q

27.

28.

29.

30.

R AR 2013 IR 111 & SR
HOTIA Y BN B RS H . o
& aratfer e T @

(A) 3ERY B

(B) wftad 3maes 9x 3ier mae e
(C) R-umgy arferea

(D) =my i

RUIGS Qe Had &1 Yo TaLIH aTd]

g : https://www.ccsustudy.com
(A) Wt gRT

(B) @ siftsfaw gR

(C) 51T WPR GRI

(D) (A) ik (B) AT &R

Rerd 3@ & arr veiiga R-Sen B
Rl & Ry adafe e & Feik
THOIAT & for) 0T e SRify Y wiferar

(A) 100%

(B) 50%

(C) 25%

(D) T

Y BN AP 3 THIHIOT B =M e
T B ge! ¥ vl ik aRE
aﬁ‘rwﬁlﬁﬁmm%:

(A) TWS T W

(B) SR ¥ )

(C) Gt gea .

(D) foifad yea W
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31.

32.

L
W

34,
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The main object of amalgamation

is:

(A) to bring economy in expenses

(B) to facilitate distribution

(C) to eliminate competition

(D) all the above

Dividend received out of pre-acqui-

sition profits of sﬁbsidiary company

should be credited to:

(A) P &L. Account

(B) Investment in Subsidiary Ac-
count

(C) Surplus Account

(D) Capital Reserve Account

. If Subsidiary company incurs losses

after acquisition-of its sha res“byl the
holding company, how holding
company will treat it in its books?
(A) Make a provision for losses to
 the extent of its share
(B) Deduct from net value of as-
sets in subsidiary h

Debit to its Profit & Loss A/c

No entry

(C)
(D) |
Premium on-issue of shares is
shown:

(A) Inthe Revenues pa'rt of State-
ment of P. & L.

In the Expenses part of State-
ment of P. & L.

In the Equity and Liabilities part
of Balance Sheet

In the Assets part of Balance

Sheet

(B)

(©)

(D)

US-15191/Q

[11]

31.

32,
W oTHiST iee e ar el

33.
% g B TN AR GEEE T §

34.

THIGROT B T IR ¢

(A) =t # Rasgaar amn

(B) foa=or g a9

(C) v ara &<

(D) 35 T

WEAS S F I B q4 B A A

(A) @m-ghy @@ o
(B) wEad® ¥ fafanr @rr @

" (C) snftrga @@ &t

(D) Yot Haa @ @
AR R GRT VEIS St 7 37

gt 2ar & ar gue YR TRl

O gD F FAT ITAR HAN?

(A) 3T 9W B D T @A b
. o amiem &

(B) e § WG b qE T 9

HCTHT
(C) I -+ @ & 3fse &=
(D) @5 sl =& &

3 & Frime w N o fcaemn
S &

(A) wTv-E faoroa & amm

(B) w81 faeRor-a3 & =aai A

(C) fred & wwan 3R @ wm &
(D) Rred & gwfg s #

P.T.O.
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35. Calls in Arrears is shown:

36.

W
~J

(A) as a deduction from called up
capital

(B) as an addition to called up
capital

(C) as a deduction from issued
capital

(D) as an asset on the assets part
of Balance Sheet .

The journal entry for debentures is-

sued at par and redeemable at par

will be: https://www.ccsustudy.com .

(A) Bank A/c Dr To Debentures A/c
(B) Debentures A/c Dr To Bank A/c

(C) Capital A/c Dr To Bank A/c

(D) None of above

. Unless written off the loss on is-

sue of debentures is s;hown:

(A) On assets side of Balance
Sheet

(B) Onthe expense part of State-

ment of Profit & loss |
(C) By way of deduction from the
amount of debentures
(D) On the liabilities side of Balance

Sheet

Us-15191/Q

35, 3l arERl Rgeg e #

36.

37

(A) T G5 & ger@ & ¥UH

(B) ‘ot $ & s & wy #

(C) Frifra tj;s?r.ﬁ 9gid & oY H

(D) %af&%ﬂmﬁrmﬁeasm%a%
wifer

afE orgt &1 e sik e w9

W e 7Ry o e @ -

(A) Bank A/c Dr To debentures A/c

(B) Debentures A/c DrTo Bank A/c

(C) Capital A/c Dr To Bank A/c

(D) 3w & & i A& |

. F9 9% 3mfciEd [8 o< f&ar Jer,

FoAr & Ffn w afy Raerh I
3.

(A) fred & il ger §

(B) Tw-gIf foa=or-um & sag s
; .

(C) =t o TR ¥ wewEs

(D) Toed & afreg wer &

https://www.ccsustudy.com
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38.

39.

40.

https://www.ccsustudy.com

Kalka Ltd. issued ¥ 20,00,000 6%
Debentures at a premium of 8%

on June 30, 2013 redeemable on

June 30, 2014. The amount of de- |

benture redemption reserve to be
created before redemption of de-
bentures is:

(A) X 20,00,000

(B) < 10,00,000

(C) Nil

(D) ¥ 9,20,000

If debentures of ¥ 16,00,000 are
redeemed by conversion, then the
amount is needed for transfer to
Debenture Redemption Reserve?

(A) ¥ 16,00,000

(8) ¥ 8,00,000

() T 12,00,000

(D) Nil

The value of net assets of a busi--

ness is subtracted from accepted
purchase consideration. The bal-
énce amount will be.

.(A) Purchase Surplus

(B) Value of Goodwill

(C) Business Fund

(D) Capital Surplus

us-15191/Q

©38. 30 T 2013 @B WBIFTRT A0 2

39.

40.

120,00,000 T 3 6% FHIF 8% Mg

R Prifir R5d 3 5 30 3 2014 31
2 81 A & e ¥ o g
B T A T e o @
(A) 20,00,000 X

(B) 10,00,000 T

(C) @

(D) 9,20,000 ¥

afe T 16,00,000 & HOGH B IMe
oRad g1 fia T 2 Y swor s
I W &R0 & o) AEaeas

A

(A) 16,00,000 T

(B) 8,00,000 ¥

(C) 12,00,000 X

(D) 1

U6 Wadd Bl Y Tl B qed
W @ wfewa ¥ g ST &1 99
SURACUIE

(A) Ha tE

(B) w&id & ged

(C) TEHRI®G B

(D) it sty

P.T.O.
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41.

42.

N
w

Us-15191/Q
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Excess of net assets over purchese
consideration is considered as:
(A) Goodwill

(B) Capital Reserve

(C) Revenue Reserve

(D) Secret Reserve

Which Accounting Standard pre- 42,

scribes the procedure of preparing
consolidated financial statements.
(A) AS -3

(B) AS -7

(C) AS - 14

(D) AS - 21

. Given: 43.

Balance of P. & L. A/c of H Ltd. (1-
4-14) T 20,000
Earnings during the year < 70,000
Current year's profits of subsidiary
T 30,000
Holding company's investment in
80%

company

subsidiary
Date of acquisition octoberl, 2014
The consolidated profit to be shown
is consolidated Balance Sheet as on
31st March 2015 will be:

(A) ¥ 90,000

(B) ¥ 1,02,000

(Cc) ¥ 82,000

(D) ¥ 32,000
[14]

41, Wmﬁlﬂmuﬁﬁﬁm

HECI ¢
(A) =t
(B) TNt W
(C) I Ead
(D) T« T
R e AT (AS) g ot
¥ TRV B Srifafy e B T
8.
(A) oE@®HH Y9 - 3

~(B) @gi®A §H 9 - 7
(C) g ¥ - 14

(D) e ¥ - 21
feam & -
va.f. & aw-sfy wrer &1 9
(1-04-14) T 20,000
g &t HI T 70,000
eGP HA! o dle] I« B TH

T 30,000
AU B 1 Ferae | fafsra
80%

®a &t fafy ISR 1,2014
31 A, 2015 & Wfepa faed
femara 7= aren a@fea a1y A
(A) T 90,000
(B) T 1,02,000
(C) T 82,000
(D) ¥ 32,000
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44, Right issue of shares is possible af-

ter the expiry of ......... from the

date of the first allotment of shares.

'(A) 6 month

(B) 1 years

(C) 2 years

(D) 3 years

45. Allotment of shares can be taken
up only after:

(A) taking approval of sharehold-
ers

(B) taking approval of SEBI

(C) minimum subscription is re-

_g ceived
o (D) approval of Registrar of com-
g panies
€ 46. Income tax deducted from inter-
§ est paid on debentures is shown as.
% (A) expense of the co.
é* (B) asset of the co.
8 (C) liability of the co.
= (D) income of the co.

47. Which of the following statements

is false?

(A) Debenture is a form of bor-
rowing from public.

(é) Normal rate of interest on de-
bentures is specified on issue.

(C) Debenture interest is a charge
against profits.

(D) The issue price and redemp-
tion value of debentures will al-
ways be equal.

US-15191/Q

44, ftreR 309 & e T gry 39T

45,

46.

47.

(D) T & MR & IgRE
FOUA R YA 3 T8 &H P
T AR A feaemar smar &

(A) A & 0P T P! RE

(B) W & Twfa & &7

(C) & & afaa & R

(D) T N I B R®E

fr=fofaa wesl ¥ ¥ o a7 s 22

(A) TR T Y IURY &7 0B aDT
2l

(B) =oTH3} R TS B IR <= ol
R & ffde o= & sy &

(C) =T R &1 o vl R 08 T
gl

(D) o &5t i e iR whvers vy

weq THE & 21

P.T.O.
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48. 6,000 debentures of ¥ 10 each

49.

50.

were redeemed by issue of equity

shares of ¥ 10 each at a premium

of 20%. The number of equity

shares to be issued will be:

(A) 50,000

(B) 60,000

(C) 5,000

(D) 6,000

W Ltd. issued 40,000 8% deben-

tures of T 10 each at par, which

are redeemable after 5 years at a

premium of 20%. The amount of

loss on redemption of debentures

to be Written off every year will be:

(A) < 80,000

(B) X 20,000

(c) ¥ 8,000

(D) X 16,000

The 'Purchase Method of Account-

ing' is adopted under which method

of amalgamation?

(A) Amalgamation in nature of
merger

(B) Amalgamation in nature of
purchase

(C) Internal Reconstruction

(D) External Reconstruction

[16]

48.

49.

50.

2 10 Rt & 6,000 ForeA B X 10 oA
¥ e 37t @1 20% Sftaw W) e
gR1 e o e Frff 5 S
e wwal 3ig @ g antl

(A) 50,000

(B) 60,000

(C) 5,000

(D) 6.000

g fa1. 3 10 T wfr & 40,000 8% 0T
w-gea R Frifm 5 st 7 5 adf &
9T 20% HHA R wied & TS
af sufafEa & IR arlt HowaE &
e ® & @ af¥r

(A) 80,000 %

(B) 20,000 T

(C) 8,000

(D) 16,000 ¥

rotaxv &t fow agfa & s=nfa
2?

(A) fera & wzfy & edawor

(B) #4 B Wi § vadiawor

(C) 3=iRa gAt-mfor

(D) amar gAf-wior
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51. EEOR® T @ gutal 3R afaal

51. Details of assets and liabilities of
transferor company are shown as
follows:

Fixed Assets T 2,50,000
Current Assets T 2,70,000
Current liabilities T 200,000
Reserves T 25,000,
Share Capital T 2,95,000.
The purchase consideration in case
of amalgamation in the nature of
merger will be:

(A) T 5,20,000

(8) ¥ 3,20,000

(C) T 2,95,000

(D) ¥ 2,50,000

52. The name 'Parent Company" to the
holding company is given by:
(A) SEBI
(B) Company Law Board
(C) AS-21 issued by ICAI
(D) RBI

53. A company should acquire at
least...... equity shares of another
company in order to become 2
holding company.

(A) One - half

(B) more than half
(C) 75%

(D) 100%

US-15191/Q

52.

53.

¥ faRor 39 R & ¢

Y fedt 2,50,000 ¥
e TRl 2,70,000 T
e, AT 2,00,000 ¥
affert 25,000 ¥
et 5 2,95,000 %
frera B wpler # w1 B gen # w
wferser & :

(A) ¥ 5,20,000

(B8) ¥ 3,20,000

(C) T 2,95,000

(D) T 2,50.000

AR B B TS SR T e

Tar g

(A) & R

(B) S B &8 §R

(C) sé. e gx Fafa o
HeUs-21 gRT

(D) wraa Rad §& g

wﬁmﬁraﬁ%%&u&smﬁt

P gEd DA B wHA I G WA
HH Y BH......... I WG HA Bl
(A) 3m
(B) amer ¥ 3t
(C) 75%
(D) 100%

P.T.0.

https://www.ccsustudy.com

WO ApnIsnsod - mmam//:sdny



WO ApnIsnsod mmam//:sdny

-

https://www.ccsustudy.com

54. Unless otherwise stated, a prefer-

S4. 3 I 7 GF T €, TP BRI
ence share is always deemed to be.

(A) Non-cumulative non-convert- 3797 W & FE IR

ible and non-participating
A) arad, aRada sl srRvEl
(B) Cumulative, non-convertible (A) ' '
and non-participating (B) WA, srRad- sk e
(C) Cumulative, convertible and -

. (C) W, aRadda 3R TEw
participating

(D) Cumulative, non-convertible (D) e, sRada 3k 3
and participating

55. The difference between subscribed 55, iRl 3o 3R e Tot & H=IR STl
capital and paid up capital is called: &,
(A) Callsin arrear : (A) 3d TR
(B) Calls in advance (B) 3w wra ara=
(C) Uncalled capital (C) srnfua Iait
(D) Paid up capital (D) wad s
56. Debenture premium cannot be 56. oA NfEam @ ... winT &) fpar
used to: ' S Tobdl &
(A) Write off the discount on is- (A) 39 a1 FomwE B e w st
sue of shares or debentures % wuEa ¥ R
(B) Wwrite off the premium on re- (B) 3iel o T 35 v o A
demption of shares or deben- v & B
tures (C) e % g ¥ Ry
- (C) Pay dividends (0) & B B s 3 B

(D) Write off capital loss

" [18]
us-15191/Q :
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57. If debentures of the nominal value 57. f& 1,00,000 T cq & FHOTGA B 10%
of T 1,00,000 are issued at a dis- g2 U3 80,0003 Ted o g Tt &
count of T 10 for net assets with Prfas fsar Y @ 3G9 10,000 3
380,000, the balance of ¥10,000 NN N —

will be debited to :
(A) Goodwill A/c
(B) Capital Reserve A/c -

(A) e @
(B) eI wfafa @

(C) P.&L. Afc (C) amw-g1 @
(D) General Reserve (D) I it
58. The schedule III of Companies Act, -  58. &It 2013 B 3R I11....... &
2013 is applicable for the financial g1 & ¥ 9RY 89 9@ I oy & fod
year commencing on or after: @y & & -
(A) 1st April 2012 (A) 1 30 2012
(B) 1st April 2013 (B) 1 3ma 2013
(C) 1st April 2015 (C) 1 384 2015
(D) 1ist April 2014 (D) 1 38e 2014
59. Select the correct order in which 59. 3w It & ey J Feafafaa #al &
the following items in respect of mﬁ%%@ﬁﬁaﬂmﬁ%aﬁm
share capital have to be stated in B TG Y -
E:? bsi;?:ce sheit lm’ a <:-:>n'u:aanwT (@) = o
aid up capita .
(b) Subscribed capital O ﬁ
(c) Authorised capital (c) W 13?[
(d) Issued capital (d) Frffira iﬁ’ﬁ
(A) a b ¢ d (A) a b ¢ d
(B) b a C d (B) b a c d
(C) ¢ d b a (C) ¢ d b a
‘®c d a b D) c d a b
US-15191/Q [19] P.T.0.
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60. Goodwill is the value of:

61.

L)
N

(A) good name of business

(B) capacity to attract the cus-
tomers

(C) quality of product

(D) all the above

"Goodwill is the current value of ex-

pected future income in excess of

a normal return on the investment

in net tangible assets." This defini-

tion is given by:

(A) Lord Lindley

(B) Lord Elden

(C) Kohler

(D) None of these

. Net assets means:

(A) Total Assets
(B) Total Assets - Total Liabilities

(C) Total Assets-Current Liabilities
(D) Realisable value of Real As-

sets-total outside Liabilities

63. If the value of shares is calculated
on the basis of dividend, it is called:
(A) Yield Method
(B) Net Assets Method

(C) Fair value Method

(D) Intrinsic Value Method

US-15191/Q

60. wf W IR &

61.

62.

63.

(A) TaEE B wferst I T
(B) WD B S A DI SR Bl

ol
(C) Iq= B IoTadr B T

ol

gy gt weafrat & Rfr o g |
siftres g AT 3T & Tl T
=ifer &1 ag o & & -

(A) @ formsat A

(B) @iis oo A

(C) PrEeR A

(D) ™ & T T

(D) A il B el 5 -
P TR AR

afe 379l &1 go AvWier & 3R | T

fear sen & o 39 et e &

(A) 3ma fafer

(B) & awf fafy

(C) 3 7ra fafy

(D) 3R® weu fafer
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64. When shares are forfeited, the

h
A

h
(=3}

. The

share capital account is debited
with.
(A) Paid up amount of forfeited
shares

(B) Called up amount of forfeited
shares

(C) face value of forfeited shares
(D) Uncalled amount of forfeited
shares

profit on reissue of forfeited
shares is transferred to.

(A) General Reserve

(B) Capital Reserve

(C) Profit & Loss Account

(D) Share Capital

. Debentures of ¥ 8,00,000 are is-

sued by X Ltd. against the purchase
of assets of T 8,50,000. In this case
< 50,000 will be supposed to be:
(A) Loss

(B) Capital Reserve

(C) Profit

(D) Goodwill

US-15191/Q

(1]

64. @ 39T g B FAM € o W TN

65.

66.

e fve faar sman @

(A) 370gd 372 & Jew IR |

(B) Juge 319 & gifera afdr &
(C) 31uga 39 & 3ifsa 7o 4

(D) 3yugd 3wl & A A @

3Rd 372 & GAIAT R AH SRR
&< fear sman &

(A) 9= Sfafa &

(B) Toie wfufer 1

(C) amv-a @ &

(D) 379 Gar &

8,50,000 % @I wHfaal & B & ford
vad. 7. 2 8,00,000 T ¥ oA
fffia fed g9 wmer & 50,000 2
HMET FRAT

(A) &7

(B) Yot wiferfer

(C) @™

(D) =i

P.T.0.
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67. Securiti i . ‘ :
urities Premium Account con 67. s Mfiem @ # Hferferer g & -
sists of.

(A) Premium on issue of shares (A) daet 3iE B fopfrrr o St

only

(B) et FoTA & Pt )

(B) Premium on issue of deben-

t | : - A
ures only ©) S 3 ®

(C) Premium on issue of shares

and debentures e .
(D) g;aiﬁmmﬁhsﬂ'{ﬁmﬂa‘r%ishm
(D) Premium on Redemption of
Preference share and Deben- = Mg
tures
68. There are only....... main heads in 68. HU Affow 2013 B 34:533?[ &
' ! | h a v
Assets' part of Balance Sheet as a1 R Bt i
er part I of schedule IIT of Com- _
Per P HIA ... e S #
panies Act 2013
(A) 2
(A) 2
B) 3
©) 4 (C) 4
69. Provident Fund is a: 69. wias it @ vs
(A) Provision (A) 3maSH
(B) Surplus . (B) it
(C) Current Liability (C) a@aﬁa
(D) Loan (D) =1
70. Accounting treatment of goodwill is: 70. @i BT AEHT TER & -
(A) revaluation | (A) FrRefe

(B) depreciating yearly

- (B) affs
(C) write off against capital prof- ) g HIeAT

(C) Toa el & ¥ reres
(D) T ¥ &g T8

its
(D) none of these

22]
Us-15191/Q .
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71.

72.

73.

74.

https://www.ccsustudy.com

Which accounting standard relates
to goodwill.

(A) AS-6

(B) AS-10

(C) AS-21

(D) AS-26

Which of the foilowingj Method is
based on the average of the val-
ues calculated by the other two
methods.

(A) Net Assets Method

(B) Yield Method

(C) Fair Value Method

(D) (A) and (B) both

Which of the following asset is in-
cluded in intrinsic value method.
(A) Preliminary expenses

(B) Patents

(C) Discount on Debentures

(D) Goodwill

Premium on issue of shares can be
utilised for.

(A) distributing profits

(B) issue of fully paid t_:onus shares
(C) Writing off goodwill

(D) None of these

US-15191/Q

[23]

71. 39 91 @i THY = F Frafer

72.

73.

74.

3.
(A) gl Y9 - 6

(B) &g WA - 10

(C) arEid= J9IT - 21

(D) orREidH YAM - 26

3T A ggiaal @ amfug gl &
sitaa = F=faRaa & @ a9 @ ugfa
amenfa & :

(A) q;w%ﬁﬁ:

(B) wfawe fafyr

(C) 3fua qea fafer

(D) (A) 3R (B) M
Frafofaa & & o 9@ wafy sm=aRe
Teg ggfa ¥ afafea &

(A) RS =7

(B) W<

(C) =OGAl R Tk

(D) wrfa

Fo & Pl w Wi & wanr o
ST HPar & -

(A) @i & fwem & foe

(B) yoiew dmwr 3w frfe & fm
(C) = ufafed &= & /R
(D) ¥ ¥ B i |

P.T.0.
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75. Amount received on forfeiture of
shares is credited to:
(A) Profit and Loss Account
(B) Share forfeiture Account
(C) Capital Reserve Account
(D) Securities Premium Account
76. The Underwriting commission in
case of issue of debentures cannot
exceed:
(A) 2%
(B) "2.5%
(C) 3%
(D) 5%
77. Loss on issue of debenture is gen-
erally written off in:
(A) S years
(B) 15 years
(C) Overthe pg.triod of redemption
(D) 10 years/
78. Advance tax is shown in the:
(A) Expense part of P. & L. state-
ment _
(B) Income part of P. & L. state-
ment
(C) Equity and Liabilities part of
Balance Sheet
(D) Assets part of Balance Sheet
US-15191/Q

[24]

75.

76,

77.

78.

magmﬂmﬁﬁaﬁ
e foan T &

(A) 2%

(BY 2.5%

(C) 3%

(D) 5%

ot % Bl ® @ & I

amfefaa fean = &
(A) 5asf &

(B) 15 @uf ®

(C) oher &1 3@fer ot H
(D) 10 asf A

M Fx fememn e @ ¢

(A) @TH-g faaRor Uz & g T
L

(B) @TH-g1f+ fda=or 43 & 3mg W
|

(C) Taed & wwar 3R ol v #

(D) fued & Twfey wmr #

https:// Ww.ccsustud}‘f.com
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79. Which of the following is not a cur-

80.

o0
[

82.

(D)

https://www.ccsustudy.com

rent asset.

(A) Stock

(B) Prepaid Rent

(C) Goodwill

(D) Cash

Which of the following in not in-
cluded in assets in the calculation
of capital employed?

(A) expenses incurred on exten-
sion of building

Preliminary expenses

Capital expenditure on machin-

(B)
(C)
ery

Cost of acquisition of Good-

will

. The most scientific method of

goodwill determination is :

(A) Capitalisation of Super Profit
Method

Purchase of Actual Average
Profits method

Method described in income
Tax Act

(D) Annuity Method

Normal rate of return means:

(A)
(B)
(C)

(B)

(C)

dividend rate

market price of share

return on investment in other
industries

return prevailing in the indus-
try in which the company is
working

(D)

US-15191/Q

79. Rreffafas & & B & e awfy 78

80.

81.

82.

[25]

g:
(A) &9

(B) ydeq fa=mar
(c) wfd
(D) A>S

ffafa dait &t worr A F=fofRaa
¥ 3 ey wwafaat A 78 afafeaa fean
e &

(A) wa7 ¥ gfx &

(B) wRfs® =g

(C) ==t & Y5t =g

(D) Tnfa &g & =g

afa fFraftor 3t waffte denfe gafa
3.

(A) ey & Gohavor &) ggfe
(B) arafas 3Id oW & HU Y Tafa
(C) 3maax fufm & aftfa gl

(D) af¥s ugha

AR T 1T &% T 19 & -

(A) HE R

(B) 39 & SR oA

(C) &= i F faffam | sy

(D) Fdm, fem o wrEishe &, §
yaferd ST

P‘T 10-

https://www.ccsustudy.com
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83. For calculating the value of an eq- 83.

uity share by intrinsic method, it is
essential to know:

(A) Normal Rate of Returmn

(B) Expected Rate of Return

(C) Net Equity

(D) All the above

84 . Discount allowed on reissue of for- 84.

feited shares is debited to:

(A) discount on issue of shares A/c
(B) forfeited shares A/c

(C) Profit & Loss A/c

(D) Capital Reserve A/c

o
n

shares of ¥ 80,000 in consideration

of net assets of < 60,000, then the

balance of T 20,000 will be:

(A) debited to profit & loss ac-
count

(B) debited to goodwill account

(C) credited to capital reserve ac-

count
(D) credited to securities premium

WO ApnIsnsod mmam//:sdny

account
86. Transfer to capital Redemption Re-
serve Account can be made from:
(A) General Reserve
(B) Profit Prior to Incorporation
(C) Securities Premium Account
(D) Share forfeiture Account

Us-15191/Q (28]

. If vendors are issued fully paid 85.

86.

mﬁw&wu@%%ﬂmwaﬂiﬂ
&ma‘?%ﬁu‘e’aﬂwa=

(A) 3iEi & Frfae W el @

(B) 3¥uge 3721 el

(C) @TH-EIH @

(D) Y3ia He g Al

aft fapamstt &Y 60,000 T P& T &

yfereser 3 80,000 T & ot & i Frifea

s s & ar 9w 20,000 T -

(A) en-arhy @ & afde fhar smam

(B) e @ @ 3fde far smdm

(C) Y o a1 pfse fovar ST

(D) sferyfer it @ &1 bfse T
A

it o wfafa @@ § et foar

31 T &

(A) g wfafa &

(B) WRMCH I qd av |

(C) wienyfer difiram @y @

(D) 379 &Rl Wi |/
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87.

88.

(A)

3]
W

90.

https://www.ccsustudy.com

87. GTieA Bt At A 3Rl R wwiia

In a scheme of reorganization,
amount of shares surrendered by
shareholders is transferred to:

(A) Capital Reduction Account
(B) Shares Surrendered Account
(C) Capital Reorganisation Account
(D) Shareholders Account

Patent is:

intangible asset

(B) fictitious asset
(C)
(D)

actual asset

current asset

. The balance of share forfeiture ac-

count is shown in the balance sheet
as:
(A) an addition to subscribed share
capital

(B) an addition to issued share
capital

(C) an addition to reserves and
surplus

(D) None of the above

Super Profit is:

(A) Normal Profit-Actual Profit
(B) Actual Profit-Normal Profit
(C) (A) and (B) both

(D) None of these

US-15191/Q

[27)

88.

89.

90.

I B SH @Il B
39T TGO Wl B
o e e
FETERY @1 B

(A)
(B)
(C)

37T &<01 @r &1 99 faes # feeman
ST &

(A) wIREa 3ier $oir # Sisax

(B) fnffia a7 ot & sisax

(C) ¥au 3R oW § Fegax

(D) IRYE & A B T

SfRreT &

(A) THRT Y - IRATAS oy
(B) TRANS AW - AHFI @TH
(C) (A) 3R (B) A

(D) §¥W 4 B T

P.T.0.
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91. In the beginning of 2015, the Man-
agement decided to insure the busi-
ness. Insurance premium is X 3,000
per annum. Effect of this transac-
tion will be:
(A) Average profits will be reduced
by ¥ 3,000
(B) Average profits will be in-
creased by ¥ 3,000
(C) Profit of 2015 will be reduced
by I 3,000
(D) No effect
— 92. Given:
g Fixed Assets ¥ 3,00,000
< Current Assets ¥ 1,50,000
é Current Liabilities < 50,000
g 8% Debentures Z 1,50,000
g Reserves T 20,000
% Outstanding Interest on Debentures
é 6 months.
o Net Assets will be:
=t (A) T 4,00,000
(8) T 2,44,000
(C) T 3,00,000
(D) T 2,30,000
93. Given:
Net Assets = 90,000 ¥
share capital:
10,000 Equity shares of T 2 each
5,000 Preference shares of ¥ 10
each
value of an equity share will be:
(A) T4 (B) ¥3
(C) X5 (D) T 2
Us-15191/Q

91.

92.

93.

aézmsasm?mﬁwmﬁm

. LU 2u i forera e
v S 3,000 2 aifies 1§ AGER

&1 gy BN
(A) stk amit & 3,000 T B FH

(8) Maﬂﬁﬁs,oooza%qft

(C) 2015 a¥ & TMH & 3,000 T &
HH

(D) @ g &

Z 3,00,000
Z 1,50,000
T 50,000
T 1,50,000
T 20,000
HOTTA! UR 3T &S 6 HIE

¥z grafeal gl

(A) T 4,00,000

(B) T 2,44,000

(C) T 3,00,000

(D) T 2,30,000

Rard:

g% wfdl = 90,000 X

3rer G0

2 T ufa & 10,000 TwWar 39

10 ¥ wfd & 5,000 gy 3
O THAT 39 & Jrd &N ¢

(A) T 4 (B) T3

(C) 5 (D) T2

https://www.ccsustudy.com
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94. The balance of forfeited shares ac-

count is:
(A) a revenue reserve
(B) a capital reserve

(C) a part of share capital

94. 39Ed 37T @Al BT A &

(A) UH ITH U

(B) va Uoihma w9

(C) 39T Y3t &1 OF UNT

WO ApnIsnsod - mmam//:sdny

(D) None of these . (D) ¥4 3 B T
95. Bonus to equity shareholders 95. THar sigrenfkal B sftreTwie &1 e
means: 2:
(A) an extra dividend (A) v 3faRes arwier
(B) an extra call (B) v sfafles ara=n
(C) an extra share (C) v sfalRes 3igr
(D) None of the above (D) 3udss H | PIg &
96. Preference shares can be re- 96. gaift®R 3790 &1 Mes fsar 5 Tban
deemed: 8- ’
(A) only if they are fully paid (A) &ae ot 5@ & Qofae &
(B) even if they are partly paidup (B) ¢ d 3H94: T 81
(C) after getting the permission (C) &aa Eg ¥ wWepta e s
from the court only & T
(D) All of the above (D) 3qzj?5 qn?f
97. Which of the following cannot be 97. s ¥ ¥ frd oiem Q@ffﬁail’( 3y ¥
applied for the redemption of
redeemabel preference shares: M & fory s I oo st e
(A) Free Reserves &:
(B) Proceeds of fresh issues of (A) T g
debentures X
(C) Proceeds of fresh issue of () =3 et & Folee S
shares (©) qﬂmﬁﬁ?ﬁﬁﬂ?%mq&;
(D) erofit available for dividend (D) @mvrer & o Juerer amsy
US-15191/Q (29]
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. .
8. A cOmpany provided ¥10,00,000

" 98, UH I A ey e & o T
for dividend payment, What will be l

10,00,000 BT Wigg fpar! Frw e
o< B IR Ty B, 15% B R AR

the amount of Corporate Dividend

Tax, assuming rate of 15% plus

surcharge of 10% education cess 10% ST Ses et 39% FIEA ST A
of 3%: | Aoy
(A) ¥ 2,50,000 (A) T 2,50,000
(B) ¥ 2,80,000 ' (B) ¥ 2,680,000
(C) ¥ 1,65,000 ' () ¥ 1,65,000
(D) ¥ 1,69,950 (D) T 169,950

99. Interim dividend is always shown g9, sraRwammadad ......... & a@amn
in: T B
Eg; ztatelme;z of :;oﬁt and Loss (A) - N

urplus Accou
(C). AssZts part of Balance éheet (B) 3T1ﬁ1'd?1 Al
(D) Equity and Liabilities part of () foed & watq Wt
Balance Sheet (D) ﬁ—.m‘é & w3 A

100.Given:’ : 100.fean @ : | ‘ _
Current Assets T 5,00,000 e et T 5,00,000
Fixed Assets T 14,00,000 IR TfRrat T 14,00,000
Preliminary Expenses ¥ 1,00,000 IRRYS E 1,00,000
Pl:ovfsion for income tax R ¥ BRY s 2 100,000

e

Creditors ' Y, R e

Capital employed will be:

(A) ¥ 18,50,000
(A) 3 18,50,000 https://www.ccsustudy.com

Whatsapp @ 9300930012 (B) ¥ 19,00,000
(B) 4 19,00,000 Send your old paper & get 10

o qua aud e o 10w i, (C) % 16,50,000

(C) ? 16;501000 Paytm or Google Pay & .
() T 17,50,000 . (B) % 17,50,000
[30]
u5~15191/Q
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US-15195-Series-P
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Main objective of Financial
Management is

(A) Maximisation of Profits

(B) Maximisation of Shareholder’s
Wealth

(C) Financial Discipline
(D) None of the above

The market value of a firm is the

result of

(A) Dividend Decisions

(B) Working Capital Decisions
(C) Capital Budgeting Decisions

(D) Trade off between Risk and
Return

Financial Management 1is

concerned with
(A) Arrangement of Funds

(B) Efficient Management of
Every Business

(C) Acquiring and Utilisation of

Financial Resources
(D) None of the above

As per modern approach to
finance function, the following

decisions are taken

(A) Investment Decision
(B) Financing Decision
(C) Dividend Decision
(D) All of the above

(1)

1. fof qae &1 e e

(A) wrEl BT
(B) cigmiat %1 wwgar a1 SAEaHET |
(C) fa<lia ergemes

(D) Iudaa & 4 o T
oF T & Ao g RO 8

(A) i ForEr @
(B) @ o Pt w1

(C) gslt awfea fofar &

(D) W qor YOR & §d ¢8-3AE

forfa wery wafeem 3

(A) am“ia%ﬁaaawﬁ

(B) wd% AIHE & I T

(C) w & fo faxilg dameEi & o
B T4 TG HH |

D) aqﬂwﬁﬁéﬁéaﬁ

feret e @bt STy feremeemr & SRE

frafeiea et e sma 2

A) Rt Frm

(B) fo 9T fofg

(C) wrisr fAoiy

(D) IR g4l

https://www.ccsustudy.com
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Financing decisions involves

Rrerdrem Pyotdl § aftafem 2

WO ApnIsnsod - mmam//:sdny

5.
(A) Investment. Financial and (A) Rifydm Ree @ R folg
Sales Decisions .
o (B) R, Redem @ avie Aol
(B) Investment. Financing and
Dividend Decisions (C) Few amtiw g fassy Fefg
(C) Financing. Dividend and (D) % q i
Sales Decisions
(D)) None of these
6. “Financial Management is an area “Rrda yawy, Rlig fofg o &t @8
of financial decision making Brar 2, S &Rt SRwdl ©@ SUEA @
harmonising individual motives T A 1 R & 21 48 qRem
and enterprise goal.” This
definition 1s given by &2
(A) J.F.Bradley (A) I.TH. I
(B) Weston and Brigham (B) ¥IwT @@ Hud
(C) J.L.Massie €) . ow. ¥
(D) None of these (D) zF A P T
7. Factors affecting financial Rreirg Brdie &) Taifad 3 9 o 8
planning are (A) @TEE TG
(A) Nature of Business B) AR @ T
(B) Amm.l.nt OleSkS (C) mrﬁ ﬁ-qau-l-
(C) Government Control (D) FF q g
(D) All of these
8. Financial Management has been g geva 3B qWa T4 P AT @
called sometimes before as 2
(A) Business Finance (A) AEEis &=
(B) Corporation Finance B) frm fa
(C) Institutional Finance (C) e R
(D) Both (A) and (B) above (D) 9 (A) @ (B) 2
US-15195-Series-P (2)
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9. Traditional Approach to finance 9. R wd @ ofy TP W;_:: ’

function was evolved A g Ul
(A) Before 1920 (A) 1920 & T
(B) Between 1920 and 1930 (B) 1920 @1 1930 % 7
(C) In1950 (C) 1950 &
(D) None of these (D) =% ¥ P 2
10. In Value Maximisation objective, ~ 10. I SHRHIET R F, T § AR
value signifies 1
(A) Value of Net Assets (A) T= guRel & g0 @
(B) Market Value of Equity (B) @wel A P IO TE |
Shares

(€) I (A) @ (B) a1 &

(C) Both (A) and (B) above ) : a

(D) Social Welfare

11. Financial Decision is related to 11. &~ Pl & @y 8 2
(A) Capital Structure (A) gl gE @
(B) Purchase of Fixed Assets (B) =@ ¥l & H9 @
(C) Dividend Distribution ©) amis R @
(D) Maintenance of Accounts (D) @& & E-@E A

12. Which of the following is NOT the 12. f= ¥ § aF-w R o @1 o T8
component of finance function

(A) fafEr fofg
(A) Investment Decision (B) R Frofg
(B) Financing Decision (C) ZE ©RE @ & folg
(C) Decision Regarding setting up (D) aiy Ft

a Business

(D) Dividend Decision

US-15195-Series-P (3)
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13. Which of the following is NOT the
main component of financial
planning as per Arthur S. Dewing

(A) Capitalisation
(B Capital Structure
(C) Management of Capital

(D) Developing Financial

Procedures

14. Which of the following activities
is NOT included in financial

planning

(A) Preparing Capital Structure
(B) Recruiting the Clerks

(C) Selling the goods

(D) Preparing the accounts

15. Which is NOT the technique of
capital structure analysis

(A) Cost of Capital
(B) Capital Budgeting
fC) Capital Gearing
(D) Tradingon Equity

16. “The term capital structure is
frequently used to indicate the
lopg-term sources of funds
employed in a business enterprise.”

This definition is given by
(A) Gestenberg
(B) Robert Wessel

(C) LM.Pandey
(D) None of these

o 12105_Seriers-P

(4) "

13. ot T, W & ogER B A &
A B R @ TE 9EE T8 8

(A) G

(B) Uit HE

(C) ot & q&+ AT

(D) facha srifafeEl &1 fawm

14. fr= § @ - B el a4
e &l 8

(4 P Sfer AR BT
(B) Foftept & wieft S
(C) A s

D) @ar TR FH

15. P & & -0 G0 He R

F qEi1E el o
(A) O e

(D) {Hdl 9T AR

16. “gofl §EA1 9= F SRS FAN

FaTaE IFEH § T B $ dHHEAH
Al @ & &7 g8 a4 g

(A) TRTET g}

(B) fae 384 &M
(C) TE.TH. T &
(D) ¥ § P Tl
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17. When debt-capital exceeds owned :

18.

19.

20.

US-15195-Series-P
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capital, it i1s called ............
(A) High Capital Gearing
(B) Low Capital Gearing
(C) Over Capitalisation
(D) None of these

Which is not the principle of

capital structure planning

(A) Principle of Cost

(B) Principle of Control

(C) Principle of Equity

(D) Principle of Risk

Capital structure is affected by

(A) Nature and form of business

(B) fiegularity of Income

(C) Form of control over business

(D) All of the above

Financial structure means

(A) Long-term fund

(B) Long-term fund + Current
Liabilities

(C) Excess of Liabilities over
assets

(D) None of these

17.

18. T ava PR W oFE-E s

19.

20.

(5)

Fllarlﬂﬂﬁlfrﬁﬂﬁ@@mﬁ‘w@s

AF AT e FEd 8.}
(A) T TR AT

(B) =1 geil &=l )
() T AT

(D) T A H A

CES

(A) @rmE & fer=

(B) =1 1 fEsr<

(C) Tua & [FsT

(D) Afem #1 fgera

(A) FEEE B |@&T a4 5gfd &
(B) ¥ F afHad &

(C) Zaag W FE=v & @EY &I
(D) IR T
criel:ien e RCiRp i

(A) EHFEA

B) TR F + 9 R
(C) M=t & wafadl X e
(D) FH @ 3R Tl
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21. Capital Gearing means 21.

(A) Ratio between equity shares
and fixed cost bearing
securities

(B) Ratio between equity shares
and debentures

(C) Ratio between equuty shares
and preference shares

(D) None of these
22. High Gearing means
(A) Equity share capital is less
than fixed interest bearing
capital
(B) Equity share capital 1s more
(C) Both are equal

(D) Gearing 1s not related to
capital structure

. Low gearing is justified

o
(L

(A) During Inflation Period
(B) During Trade Recession
(C) During Depression Period
(D) None of these

924. Tradingon Equity means

(A) Lessequity shares and more
long-term loan in capital

structure

(B) More equity shares less long-
term loan

(C) Bothare equal

(D) None of these

JS-15195—Series—P (6)

goft T A R

a3 A ST

(13) maisi’fqaa{vmﬂ%élﬂ A

(C) wFa Sig w S il @ dm
ST

(D) FH A ;S T

Fe3 T & o A 8

(A) wEar ofer goit feR @ ol 3
9 B

(B) @wal oiw Goht st 2

(C) T TN 8

(D) TS & Yol wE A BE
g T &

e Z=diFr 3fad &ar 2 |

(A) gor-wifd F |

(B) HNUR THIT FId &

() 5=l Fid A

(D) 39 § & T2

A9 W AR § 399 &

(A) To 8 A FH gwal sar d
el R o

(B) @uar 9 s il o #9

(C) I aqaT &

(D) &8 § TR 7

https://www.ccsustudy.com

WO ApnIsnsod - mmam//:sdny



wod Apnisnsad mmm//:sdyy

https://www.ccsustudy.com

26. The meaning of capital structure

26.

b
-3

US-15195-Series-P

18

(A) Ratioof l.ong-term sources of
capital

(B) Equity and Preference share
capital

(C) Equity + Pref. share capital
+ Reserve + Long Term Debt

(D) None of the above

Capital structure 18 said to be

ideal when

(A) Cost of capital is minimum

(B) Profitability of the business
is maximum

(C) Profitability and cost both are
maximum

(D) Both (A) and (B) above

. Sarita Limited and Ritu Limited

have equity share capital of
Rupees 5 lakh and Rupees 2 lakh
respectively. Each of them have
earned a Profit of Rupees 60,000.
Sarita Limited has no preference
share capital and debt capital,
while Ritu Limited has paid
Rupees 10,000 as interest on
debentures and Rupees 15,000 as
preference share dividend.
Earning per share is respectively

(A) 12% and 30%
(B) 12% and 25%
(€) 12%and 17.5%
(D) 12% and 15%

(7)

25.

27.

foft Zrar F FNeE 2

(A) TR B dnferi @dl FSTIAd
(B) mwar s smfrerr sier gull

() 7+ s H#@9 g+ d@9d

(D) 77t § & B TR

Toft Fraer wrd FEAw 2 oh
(A) T AFr a9 @l
(B) =a=/@ #i Arqaraedl A 21

(C) AMEESAT 4 P A2 sAlaeay
gl

(D) I () 7 (B) &l

giear fRez A w7 ez #1 auad
R Gl FRA 5 G HYG q1 2 @@
50 21 2M 9 @ 999 7 60,000 593
are FHE 2 | [See # R gl
3 MM el 48 2, i wq ke
I FOGE 97 @A 10,000 ®Ud aun
AEHE H G e 15,000 w9
fear 2 ufg 91 W@ FA9: 2

(A) 12% Ud 30%

(B) 12% Ug 25%

(C) 12% 14 17.5%

(D) 12% 1 15%
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28. If Equity Share Capital 1s
< 1,00,000. Preference Share
Capital is ¥ 25.000 and Debt
Capital 18
< 25.000. It will be called as
(A) Low Gearing
(B) High Gearing
(C) Normal Gearing
(D) None of these

29. Leverage means
(A) Gear Box of a Car
(B) Capital Structure
(C) Profit-Loss
(D) Effectiveness

(]
o

. Operating Leverage is affected by
(A) Fixed Costs
(B) Variable Costs

(C) Per unit selling price or sales
volume

(D) All of the above

31. Sales¥2,00,000
Variable Cost ¥ 1,40,000
Fixed Costs T 40,000
Operating Leverage will be
(A) b
B) 3
(C) 2

D) 25

US-15195-Series-P

(8)

oR. o we A PR 1,00,000 &Y B

sRmm #ig o 26,000 TW } e
o goft 26,000 F@ 2 AR FA

(€) "t 5% fom = & a1 fosa
i i

D) IR &t |

31. f@h1 T 2,00,000
aRedslid @ 2 1,40,000
fer @ T 40,000
qieneE et &
(A) 5
B) 3
C) 2

(D) 25
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32. Sales? 2.00.000

33.

<V
-9

Variable Costs 2 1,40,000

Fixed Costs T 40,000

10% Interest on Debt of T 1,00,000
Combined Leverage will be

(A) 4

(B) 3

(C) 6

D) 2

Operating Leverage is 2 and
Financial Leverage is 1.5. [f Sales

increase by 5%, Earning Before
Tax will rise by

(A) 15%
B) 7.5%
C) 10%
(D) None of these

. Given:

Variable Costs as % of sales 6625
Interest I 200

Operating Leverage 5

Financial Leverage 3

Amount of Sales is

(A) ¥6,000

(B) T4,500

(C) ¥3,000

(D) ¥5,000

US-15195-Series-P

32. B Z 2,00,000

(9)

33.

34.

T
qfrae=sfer @ 2 1,40,000

Rerr s T 40,000

T 1,00,000 %1 T 10% @ G

(A)
(B)
(9
(D)

T W

oo

ofraes s 2 2 o R s
1.5 2 3R et ®§ 5% # gfe 21, @
w7 3 @@= # gfz 26

(A) 1%
(BY 7.5%
C) 10%
M) 78 7 #E 78

e 2

feshl O qRaaAeTE A Esr:r?cramﬁsi—
=T T 200

qREe= a5

CRIRECICEE

faeel @1 wiwr &

(A) 6,000%9Y

(B) 4,500 %79

(C) 3,000 TR

(D) 5,000 v
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36.

36.

o
|

Us-15195-—Series-P
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The Sales of a firm T 75 Lakh

Variable Costs ¥ 42 Lakh
Fixed Costs X 6 Lakh
Operating Leverage 1s
A 122

@) 167

(C) 3.00

(D) 500

Operating Leverage is 4 and
Financial Leverage is 3. If sales
increases by 10%, Earning Before
Tax will rise by

(A) 30%

B) 15%

(C) 20%

(D) None of these

. The Sales of a firm ¥ 75 Lakhs

Variable Costs ¥ 42 Lakhs
Fixed Costs ¥ 6 Lakhs
Loan of ¥ 45 Lakhs at 3%
Financial Leverage will be
(A) 1.31

B) 1.105

(C) 122

@) 1.176

36. UREE ;
g ¥ af% el & 10% @ I& B, A%

317.

(10)

3 o o ¥ gie &
AA) 3% |
®B) 15%

©) 20%

©) ¥ A =g T

q#arf&wmﬁﬁm
IREdaid @rd €98 42 @
WEl A T ) 6

9% W 45 TG F F

P e
(A) 1.31

B) 1.105

(C) 1.22

M) 1.176
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38. Contribution divided by operating. 38, siarer R g
Profit is the formula of
(A) Financial lx-verag@, A) 1 i
(B) Operating leverage {/B'} A AT
(C) flnmpnsitn [,(:vcrng(; (C) [P\ dfaramw &
(D) None of these (D) z7d A FF 2t
39. Operating Leverage is a function 39. atrErEE AT H FE B
of
(A) Tz ammat &t of
(A) Amount of Fixed Costs
(B) Contribution Margin ®) sewr
(C) Volume of Sales (©) Mr A AE
(D) All of the above (D) I ad
40. Financial Leverage is calculated  40. &2 s@aw=rs $i e fFad gg@a
' with the help of T A2
(A) Contribution and operating (A) FHoEH A7 e o @
profit ' |
(B) Operating profit and profit @ U AR USE T ™ A
before tax (C) HIW I F A gd @d A
(C) Contribution and Profit D) FF } 3 7
before tax X

(D) None of these
41. If operating Leverage is 2, the 41. 3R oW dEwe 2 8 oA R

sales increase by 20%, then the 20% q 93 A 8, a B QA 94 A4 §

increase in income before interest 3 e

and tax will be ¥ qﬁg )

(A) 40% (A)" 40%

B 10% (B) 10%

(C) 18% (C) 18%

(D) None of these D) 3 | FE 7&
US-15195-Series-P (11)
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42, The degree of financial leverage

WO ApnIsnsod mmam//:sdny

43.

44.

45.

will be maximum at nearby
(A) BEP

(B) Contribution

(C) Margin of Safety

(D) None of these

If Operating Leverage is 3.5;

By what percentage will EBIT
increase if sales increase by 10%

(A) 0.35%

(B) 10%

(C) 35%

(D) None of these

If Financial Leverage is 2.14, by
what percentage will taxable
income increase if EBIT increase
by 6%

(A) 0.36%
(B) 12.84%
(C) 21.4%
D)
Dividend means

(A) Amount of Profit

(B) Ratio of Profit to Capital

(C) Distributable amount of
Profit

Portion of Profit which is
distributed among

shareholders

None of these

D)

42,

43.

44.

45.

(12)

Al IHew & e qattes
3 9. e

(A) sl fog
(B) A
(C) gan dm
D) F% ¥ 7 7

IR Raws dawmw 3.5 81 a fah
10% & 95 9 | fea gfoem gf
gt

(A) 0.35%
B) 10%
(C) 35%
(D) 4 & F T

I} fa<fig Sfiaw@w 2.14 8 @ EBIT #
6% 3fg A W = I I F g
P ufeera @rft

(A) 0.36%

B 12.84%

(C) 21.4%
(D) T q A 7@

arier F ot 2

(A) 99 & TR

B) ¥ 1 Yol { U

(C) @™ it faaor arg iy

(D) dmaiEt 3 qey §23 amn @™
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46.

47.

48.

49.

50.

US-15195-Series-P
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A company can distribute dividend
in the form of

(A) Stock

(B) Cash

(C) Long Term Bonds

(D) All of the above
Dividend can be paid out of
(A) Current year's profit
(B) Past year’s profit

(C) Capital

(D) (A) and (B) Both

Which are the essentials of a
sound dividend policy

(A) Regularity of Dividend

(B) Gradually rising Dividend
(C) Distribution of Cash Dividend
(D) All the above

Walter’s Model is related with
(A) Capital Budgeting

(B) Cash Budgeting

(C) Dividend Policy

(D) Depreciation Policy

A company can not issue Bonus
Shares, if it has defaulted in
respect of payment of

(A) Dividend

(B) Tax

(C) Employees Dues
(D) Bank Loan

46.

47.

48.

49.

(13)

0% FOAT .
faefta T qEaT 2 |

(A) =F

(B) %=

(C) e afoz

(D) 39a a4

ATRII F T (AT A a8
(A) g 91 3 arq A

(B) = 7 % 9 3

(C) 751 A

(D) (A) A7 (B) 2=t A

e e dfa o fAgman PE-dt 3
(A) Ta # FafEdar

(B) #mmar 771 3§ Fmor ghe
(C) FHE AN B qI™™

(D) TqqF Bl

Ieer F Aigw Fatad R
(A) Tt geT A
(B) &g a@ied 4
(C) et A &

(D) M ifg &

o FFOAT aAferare S Fritha w8 &
gFdal, e g ER I
I 2

(A) dArHi

............

(B) &
(C) ol & -
(D) ¥ F
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51. If the earnings of a company are 51. afr Redt Fq B arta Rut Ao ar
stable. then it can easily follow g | ™ FT Tl 2
(A) Stable Dividend Policy (A) R i At
(B) Flexible Dividend Policy (B) el qmie AR
(C) Liberal Dividend Policy () sar e AR H
(D) Conservative Dividend Policy ) ﬁm"‘ﬁ Sl it
52. A Company's dividend payout is 52. @ el 1 A g 10% & Faizd
10%. Which dividend policy the Ry e A1 G A Afy &1 FFATT
company is following FT @ 8
(A) Stable Dividend Policy @A) ghex iy @
(B) Strict Dividend Policy (B) FIR T A
(C) Liberal Dividend Policy (©) W At A
(D) None of these D) LR P T
53. The meaning of (1-b) in Gordon’s  53. At & amnw g 4 (1-b) g 2
Formula of dividend is A) R S i
(A) Dividend Per Share B) amTia S
(B) Dividend Pavout Ratio (C) 9 3isT 3T
(C) Earning Per Share D) ¥ & S el
(D) None of these
54, PG SO @ AR FA P AR

54.

According to which approach there
is a direct relationship between
dividend policy of the company and

its value A)

(A) [rrelevance (B) e

(B) Relevance (C) ST
(D) &

(C) Internal
(D) External

WO ApnIsnsod - mmam//:sdny
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58.

66. According to Walter, Dividend 55.
Policy of a concern i1s based on
(A) Internal Rate of Return
(B) Market Rate of Capitalisation
(C) (A) and (B) Both
(D) Market Price of Share
56. According to Walter,if R, > R, for 56.
maximising the market value of
shares, the payout Ratio should
be
(A) High
(B) Low
(C) Constant
(D) None of these
57. According to Walter, when 37
R, <R, optimum dividend policy
would be that dividend payment
ratio is
(A) 10%
B) 25%
(C) 50%
(D) 100%
The dividend policy of the firmand ~ 58.
its market price of share 18
determined by
(A) Earning Per Share
(B) Price Earning Ratio
(C) Dividend Yield
(D) Book Value
(15)

US-15195-Series-P
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i 2

(A) =it g & W

(B) AT W et Al 9

(€) (A) 7 (B) T

(D) Agt % 7 g T

7 % AT, 4% R, > R @ W
Waﬂﬁﬁmﬂ*ﬁr%mg’ﬁﬂ
FTA T AU

(A =3

(B
(0

[ —

F=

A) ufF g 3w
(B) T oW I
(C) @i g

(D) T T
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59. Walter model 1s based on the

60.

61.

relationship of rate of return with
(A) Equty Capital

(B) Capitalisation

(C) Debentures

(D) Reserve and Surplus
Vibhor Limited earns ¥ 5 Per
Share. Its rate of capitalisation 1s
10% and rate of return on
investment 1s 18%. According to
Walter Model, the price per Share
at 25% Dividend payout ratio
should be

(A) 100

(B) 90

(C) T80

(D) T75

Given:

EPS=18

Rate of Return Required by
shareholders = 16%

As per Gordon Model, the rate of
return that should be earned on

69.

60.

61.

aﬁ?aﬂmmﬂﬂ\s ............ 4
mmwmﬁﬂal
(:\)W'{\?ﬁ

(B) A&

(C) FOI9H

(D) R o onfued

AviR RifRes 6 oW i A aifiq
A 81 TER G B & 10% S
R X 9 T 18% & | et Hiee
3 IFIER, 25% A YA FTA 17
ofy 39 N & aifeT

(A) 100

(B) 9059

(C) 80 Tw

(D) 751

fr 2

ofq 31 3G =8 FW

JqEREl Z e G & = 16%
AT AfEd & FTAR, AN & TR Tl

50 9q T A 20%
Mg F1 3 for fafeil @@ g &

WO ApnIsnsod - mmam//:sdny

investments to ensure that the afsfa #1 s =nfea
market price is ¥ 50 and the (A) 15%
dividend payout ratio 1s 20% B) 16%
(A) 15%
(C) 18%
(B) 16%
D) 12.5%
(C) 18%
(D) 12.5%

US-15195-Series-P (16)
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62. Neha Limited earns T 16 per

N
(7]

64.

US-15195-Series-P

share.
Rate of Capitalisation 10%
Rate of Return on Investment 15%

As per Walter Model, optimum

payout ratio for the Company is
A 0%

(B) 100%

(C) 50%

(D) 75%

. Working Capital means

(A) Total of Current Assets

(B) Excess of Current Assets

over current liabilities

(C) That portion of assets which

changes in business

operations
(D) All of the above
Fixed Working Capital means

(A) Minimum Stock of Raw
Materials

(B) Minimum Balance of Bank
(C) Salaries of Workers
(D) All of the above

62.

63.

64.

(17)

Jer RifRe 15 599 gf R
21

TR H 3T 10%

R @ oera # 2T 15%
(A 0%

(B) 100%

(C) 50%

(D) 75%

(A) o aufEt % 39 8§

(B) T §<rE ¥ AN A W
R q

(C) T=fd # @ - N AIEE
g § 9% B 8

(D) I90FE |

i Fde G 2

(A) ¥R Td & P RS
(B) ¥F F FA N

(C) "I F

(D) I a+i
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65.

66.

67.

68.

https://www.ccsustudy.com

Excess working capital is evidence
of

(A) Advance Credit

(B) Demand of the Product
(C) ldle Funds

(D) None of these

The Balance Sheet to be prepared
under Balance Sheet Method of
finding out working capital is
called

(A) Historical Balance Sheet
(B) Projected Balance Sheet
(C) Current Balance Sheet
(D) None of these

If operating expenses are
¥ 1,00,000 and operating cycle in
a year is 1.25, then working capital

will be

(A) ¥1,25,000
@B) ¥1,00,000
(C) Z80,000

(D) None of these

Which of the following is NOT the
purpose of holding inventory

(A) Reduction 1n Ordering Costs
(B) Benefits of quantity discount
©) Benefits of Cash Discount

(D) All of the above

65.

66.

67.

68.

n (18)

st et A ST B
(A) I=d d@ H

(B) IaE A AT H

(C) Pifesa i H

(D) = § § ¥ T

st gt s A @ [ faee
Ry § g9m 9 aa e # 8 E
(A) el fager

®) ad free

(C) g Ferer

(D) ™ & F§ T

af* ofareE @ 1,00,000 593 & 37
af § qREwH 9% 1.25 @, af Frade

geft 8t

(A) 1,25,000 5
(B) 1,00,000 594
(C) 80,000 %93

M) I ] #§

Pt & @ 39 @ @y 1@ & BN
Tt B

(A) RY @rd § i

(B) #E1 G H AW

(C) o< & & @

(D) ITH at
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69. Nature of seasonal working capital 69. Wit Frdgia got 1 Fepf g

18

(A) FATIFEA
(A) Short Term o
(B) =
(B) LongTerm v
(C) Medium Term (C) TR
(D) 9FFE=fa

(D) Variable
70. Adequacy of working capital is 70. g g Tataar aavas 2
required &) T ¥ s ?@
B) s/ # 3= 3
(C) = mifts & gfaan 29
(D) Ihe THi

(A) For Prompt Payment
(B) For Increase in Credit

(C)  For Convenience in raising
loan

(D) All of the above
. Net Current Asset method of  71. FR¥E it # FFAH T 3 Y&

71
estimating working capital is based I AT fafy e 2
on (A) T3 T T
(A) Cash Cost ®) @ W

WO ApnIsnsod - mmam//:sdny

(B) Credit Policy
(C) Credit Sales

(D) Borrowing + Rate of Interest

(C) 9@ i W
(D) I + AR X T

79, Risher G 7 F & R A8 Qg

72. Cash Forecast Method of finding

out working capital is based on Ry o @

(A) Cash Budget (A) TFs T |
(B) Cash Flow (B) %3 YR W
(C) Fund Flow (©) 9 I T
(D) None of these D) ¥ & A T

US-15195-Series-P (19)
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<
-

75.

US_15195__Series—P
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Given : 78, R ™ -

Opening Stock : qiwe WIE
- Raw Material T 22.000 — e I 22,000 m
— Work in Progress Y60.000 _ g (i W) F 60,000 ’w‘lil
- Finished Goods ~ ¥10.000 - faffa = 10,000 su4

Closing Stock : sfem &% ¢ ‘
- Raw Matenal T22.000 — el AT 22,000 mq
— Work in Progress ¥61.000 - (v W) Gag 61.00035':1?
— Finished Goods ~ ¥17,000 — il = 17,000 TR

Purchase of materials  ¥70.000 Al @ FY 70,000 51

Wages ¥ 30,000 gl 30,000 51

Raw Materials Storage period will F= O 3 WOSKY @iy &l

be @A) 112RF

(A) 112Davs B) 113RA

(B)- 113 Days (€) 111R3

(C) 111 Days (D) 114FfF

(D) 114 Days

Financial Statements are 74. T fEo o 3

(A) Estimates of Facts (A) Tt 3 T

(B) Anticipated Facts B) SaRE T

(C) Recorded Facts (C) aR@fad T

(D) All of the above (D) I T

Financial Statements refers to 75. fadha faavor gy 3

(A) P and L A/c and B/S (A) e @ iy o freel

(B) Balance Sheet (B) e faee @

(C) g favor g

(C) Income Statement

(D) B/S, P and L, P and L

Appropriation Ale
(20)
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76. Which of the following is NOT 76, Prer i @ #.a1 %3 7 v FehBl

717.

-3
&

-
®©

US-15195-Series-P

included in cash
(A) Cashin hand
(B) Bank Balance
(C) Debentures
(D) None of these

Motive for holding the cash in a
business are

(A) Transactionary
(B) Precautionary

: (C) Compensative

D) All of the above
Deposit Float consists of
(A) Postal Float

(B) Processing Float
(C) Bank Float

(D) All of the above

Normally debtors are collected
after 45 days ; Inventories have
on average holding period of 75
days and creditors payment period
on average is 30 days. How much
is cash cycle

(A) 120days

(B) 90days

(C) 150days

(D) None of these

(21)

717.

78.

79.

g Uiy

(A) &= g

(B) ¥ 99

(C) 9=

D) =4 & F3 7o

% FI9G § UFHs 1@ B LYY B &
(A) 27 T

(B) gram g=di

(C) #fagfd =w=rdt
(D) 3w =41

A e § e 2
A) TR T
(B) S&fET we
(C) % we
(D) IR F4I e
AA: Rt 4 45 A F age 8
R, @y e 75 RAT 9% o 2

qerd @ P & Ey Sl|ad 30
et %1 e = frem B

(A) 120 &=

(B) 90 i&H

(C) 150 &=

(D) I ¥ FE T

https://www.ccsustudy.com
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80.
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g0. Ra e

Given:
Cash Turnover 5

Annual Cash Operating Expenses
Z 1,80,000. Minimum Cash Balance
Required

. (A) ¥36.000

Q0
Pt

82.

US-156 195-Series-P

(B) ¥40,000
(C) ¥50,000
D) 15,000

. In amonth payment for wages was

F 5750 when lag in payment of
wages is 1/8 month. If total wages
of current month are X 6,000, the

wages of previous month was
A) T4,250
(B) T4,800
(C) T4,000
D) T4,750

What are included in the terms

Receivables

(A) Debtors only

(B) Bills Receivables only
(C) Both (A) and (B)

(D) None of these

81.

82.

(22)

Qe o O

i A%e e &4 T 1,80.000
g {3 A ) SaLE Bl

A) 36,000
@) 40,000
(€) 50,000
D) Z15,000

w e 7 TEE 3 R ARG 5750
5@ o, oafs ARl P § 1/8 W

A 2 ad ) AR U TR A
gl 6,000 & & S T AT H ET

gl ot

(A) T4,250

(B) T4,800

(C) ¥4,000

(D) 4,750

‘qai g & @ it A @
(A) ¥} IR

(B) Fad 99 fagH

(C) (A) @ (B) 3

(D) 7% & a8 78

https://www.ccsustudy.com
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838. Which of the following costs is
NOT associated with receivahles

(A) Carrying Costs
(B) Delinquency Costs
(C) Default Costs
(D) None of these
84. Extension in credit period results
into
(A) Increase in Sales Volume

(B) Increase in.Loss on Bad
Debts

(C) Increase 1in
Collection period

~ Average

(D) All of the above
85. Liberal Credit Standards may

result into
(A) Increase in Bad Debts

(B) Increase in  Average

Collection period
(C) Decrease in Collection Costs
(D) Only (A) and (B)

86. Receivables are maintained for

(A) Increasing Sales
(B) Increasing Profit
(C) Meeting the Competition
(D) All of the above

US-15195-Series-P

(23)

83‘

84.

85.

86.

qrait F @-TEE BT 93 8
(A) R 7 gfs 3 e

B) @™ # gf& 3 fT

(C) wfveqyf & A FW § fo
(D) Iqqa @t

Frer 8 A @t o Tl & G

1
b

Tl 2
(A) TEE-and

(B) #y4ar A

(C) 7% @

(D) =% 4 72 i

a@ Fa @R T

(A) P 2t amn 4 gfa &t 2

(B) @@ #o1 % A § gix 2 3
(C) 3 ageh afa § gfe A1 2
(D) IGF FYI

T2 AFF YN &1 GO & gl 8
(A) 9l 9 8 g

(B) fea ag #a A 3K

(C) g @ q F

(D) 34 (A) 7 (B)

WO ApnIsnsod - mmam//:sdny
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87.

88.

v )
&L

90.

US-15195-Series-P

https://www.ccsustudy.com

Delinquency Costs arise when

(A) Customer’s Financial Position
1s Bad

(B) Customer's Financial Position
is Doubtful

(C) Both (A) and (B)
(D) None of these
Given:

Annual Demand 13,000 Units
Lead time 6 Weeks
Safety stock 500 Units
Reorder Point is

(A) 1,500 Units

(B) 2,000 Units

(C) 800 Units

(D) None of these

. In Analysis Process main form is

(A) Comparism

(B) Trend

(C) Selection

(D) Reclassification of facts
Ideal Current Ratiois

A 1:1

B) 1:2

©) 2:1

D) 2:2

817.

88.

89.

90.

(24)

A) s @ P fafy @@ A
®) e & fda Rl a=ewm

©) (&) @ (B) &
©) 7 & :} T

Rar & :

i 77 13,000 FHEA0
A H<RW 6 q<E
g0 @1 500 S
TR frg 3

(A) 1,500 3H=A

B) 2,000 A

(C) 80033

D) F q K T
e bk & s @ @
(A) e

(B) Hgf

(C) =@

(D) T & Gty

Jed ATy S 3
(A) 1:1
B) 1:2
C) 2:1

D) 2:2

https://www.ccsustudy.com
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91.

92.

93.

94.

95.

US-15195-Series-P

https://www.ccsustudy.com

[deal Quick Ratio is

A) 1:1

B) 1:2

€ 2:1

D)y 2:2

Quick Ratio does not include
(A) Cash

(B) Bank Balance

(C) Debtors

(D) Stock

Which of the following is Non-

Current Liability

(A) Mortgage Loan

(B) Bank Overdraft

(C) Outstanding Wages

(D) Bills Payable
Depreciation on Machinery is
(A) Uses of Fund

(B) Sources of Fund

(C) No Flow of Fund

(D) None of the above

Which of the following will
increase working capital

(A) Paying Cash to Debtors

(B) Payments to the Creditors by
Cheque

(C) Writing off Goodwill
(D) Sale of old machine for cash

(25)

91.

92,

93.

94.

s TR H 8
A) 1:1
B) 1:2
C) 2:1

D) 2:2
T Fu H gfafad Té e

(A) T
(B) % m

(C) T

(D) 7zfra

(A) T 7

(B) % siwfawd

(C) & F9gl
(D) %@ =

9 T AW 3

(A) T F T

(B) ¥ F A

(C) Y # F T T
(D) I@ 7 & #5 T

. frfafad & @ s g dddfe g

¥ ghg 2

(A) 3RR & TR LA
(B) FERT & A% &N A
(C) w@fa & AGET

(D) %8 3 Q! 949 &1 faehg

https://www.ccsustudy.com
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' e
96. Cash Flow statement helps in 96, {%s WarE faa, A
which form of financial planning qre & wEa F
(A) Short Term (A) AT
B) LongTerm (2 ﬂ::ﬂﬂm
(C) Very Short Term ( _
(D) Very Long Term (D) = QU
7. Which of the following is not a 97, Ffifaa & A Vs odre TEl
Cash Inflow &) s
) (A) Decrease in Creditors @) st @ R
(B) Issue of Shares (©) R afrdl & R
(C) Sale of Fixed Assets @) T A R

(D) Decrease in Debtors
98. Increase in Creditors results in 98, awerd # 3y @ -@ﬁﬁ % .

(A) Decrease in Cash @ I

(B) Increasein Cash B) Iz 7 3= |

(C) NoChange in Cash (€) g ¥ a¥ g &
®) I 8§ B T

(D) None of the above
99, Increase in the amounts of Bills 99, ur fact &t W ¥ ofx & & &

Receivable resultsin (A) ﬁzh—g q )

(A) Decreasein Cash B) s & gfs

(B) Increasein Cash (C) %% d % qfady 13
(C) No Change in Cash (D) 90 & B T

(@) None of the above

i 26
i 12195-Series-P (26)
https://www.ccsustudy.com
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100. Cash from operation w

due to

(A) Increasein Current Assets

(B) Decrease in Current Assets

(C) Increase in
Liabilities
(D) None of these

US-15195-Series-P

https://www.ccsustudy.com

ill decrease 100. 7= 7 e F Fd & HRO .
(A) =g Tural # gRa

(B) =g Awgfaal 7 FH

(C) = et 7 i

(D) z=4 3 = 77

Current

https://www.ccsustudy.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
o gt dud S 3t 10 wd o,
Paytm or Google Pay &

(27)
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The booklet contains 100 guestions. Examin-
ee Is required to answer all 100 questions in
the OMR Answer-Sheet provided and not in
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"Advertising is an art in

https://www.ccsustudy.com

form of print-

ing", Defined by :
(A) Laskar
(B) Kotler

(C) Elderson
(D) None

/ Essentials of a good advertising copy

i

W,

is:
(A) Suggestive value
(B) Sentimental value
(C) Memorising value
(D) All above
Advertising, sales promotion, public re-
lation and publicity are the type of-----.
(A) Personal selling
(B) Non-personal selling
(C) Mass-selling
(D) None

._./Advertising is:

(A) Science
(B) Art

(C) (A) and (B) Both
-~

(D) None

.)‘/ Which of the following is media o A
-~

vertising?
(A) Display
(B) Radio
(C) Tw

- (D) All of above
NUS-15193\R\2021

 Rrgno=T geoT & B9 ¥ s wem d 1 afenfig
%{n:

(A) TR A

(B) @R A

(C) TeEREH A

(D) B &l

e o wfefeft & smewos T

(A) fag=

(B) oeH

(C) (A) T (B) I

(D) o T&
a1 fsos &1 e 8°

(A) weH
(B) A
(C) Ceifas™
(D) IwRres wl

P.T.O.

https://www.ccsustidy.com
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6.

¢o

b

10.

https://www.ccsustudy.com

The advertisement slogan of LIC "Je-
evan ke Sath bhi Jeevan ke Baad bhi"
is an example of:

(A) Inherent Motives

(B) Rational Buying Motives

(C) Emotional Motives

(D) All above

Which of the following outdoor adver-
tising?

(A) Electric Sign Boards

(B) Wall writings

(C) Sandwich Board advertisement
(D) All above

At which stage of PLC, market -and
product improvement techniques are
used :

(A) Growth stage

{B) Maturity stage

(C) Introduction stage

(D) Dedline stage

At present who is the Brand Ambassa-
dor of Coke?

(A) Katrina Kaif

(B) Aishwarya Rai

(C) Priyanka Chopra

(D) None

Who is the Brand Ambassador of ICIC]
Bank?
(A) Akshay Kumar

(B) Amitabh Bachchan

(C) Shahrukh Khan

(D) None

NUS-15193\R\2021

[4]

10.

e & P @1 s ART @ S &
ary it e & A " v TR
(A) TR RO BT

(B) fdaquf war SRom3Tt BT

(C) WIS RO HT

(D) 3IRres Y

et o ot e e &2

(A) fega Wz a8

(B) @R ?rE=

(C) wsfim A e

(D) IRRE I
3 e B9 o fva Rufad ® s T

3E GUR gfenat &1 wan gar &
(A) faor |uE

qRuagar Q=

(C) IT=em= |

(D) fiRmET du™
A ¥ DT 3 Fis-UREER i 272

(A) &I S5
(B) ¥ I
(c) foier aas

(D) o I&
ICIC! ¥ 31 778 vRwER i 2»

(A) 36T PR
(B) ™ T

(C) e W&
(D) = TR

(B)

https://www.ccsustudy.com
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11. "DAGMAR" concept was firstly Devel-

11. "DAGMAR" JatIROT 3} R
oped by : e

T man am
(A) A.H. Maslow (A) ©.Ca.IwN
/(,B) Russel H. Colley (B) WA va. 3R
(C) E.H. Burack (C) 5.
(B¥ None (D) ®1§ e
12<"IBRD is also known as: 12. IBRD ® M1 F1ar & :
(A) World Bank (A) World &6 & Tm ¥
~(B) IMF (B) IMF&IWJ
(C) EXIM Bank (©) EXIM3S S ™ ¥
(D) International Bank (D) International &5 & 9/ ¥
\V(hat is the correct sequence of the  13. w1 Uc-Tall &I el ow aar &7
following events: (1) W.T.O.
= (1) W.TO. | (2) Liberalization
E] (2) Uberalization (3) Globalization
? (3) Globalization (@) IMF
2 (4) IMF . & =
g Select the correct answer from the SR UG X -
g code below (A) 4,2,3,1
Z (A) 4,231 (® 1,2,3,4
] .
& B8) 1,2,3,4 (C) 4,1,2,3
g (©) 41,23 (D) 4,3,2,1
=} (D) 4,3,2,1 . -
, ched its 14, YR TWOR T 1965 # IO TEeN
14. ernment of India establishe ot iy v
first Export processing zone of Hat i :
in 1965 : (A) Thar
(A) Goa (B) feee
(B) De"L'I | (C) wisen
~"(C) Kandla _
Mumbai ing int mﬁ@u(m ﬂwgﬁqvﬁﬁ w91 o1 waffte safed
157" Most Popular method of entering Into 15, %
International Marketing is: HIEaH =
nt (A) Wi vy
(A) Contract Manageme 5 5
ﬂB} Licence (B) Rref
(C) Export ' (©) .
(D) Joint Ventures (D) T I
151 P.TO.

I NUS-15193\R\2021
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16. Which can be sold in International 186.

/ﬁarketing?

(A) Services
(B) Products
(C) Ideas

(D) All above

17. Method of entry into Foreign Markets 17.

inClude :

{A) Exports

(B) Direct Investment
(C) Joint Ventures
(D) All above

18. Need of Intermational Marketing was 18.

felt because of :
(A) Limited National Market
(B) Growing Competition in National
Market
(C) Attraction towards Foreign Market -
(D) Desire of earn more profit
15. Which is not Navratna Companies?
(A) BHEL
(B) ONGC
(C) Reliance
(D) NTPC
20. Which is not MNC's?
(A) 1BM
(B) NESTLE
(C) SONY
(D) L.I.C.

19.

NUS-15193\R\2021 ()

20.

R Rort # e e o1 W &
(A) ard

(B) IWE

(C) Rar

(D) IRws T+t
ﬁmhﬂTanﬁﬁﬁi#néﬁra%f%ﬁnﬂ:#?ﬂﬁ#%a
&

(A) fafa

(B) weaer fafrah

(C) Egeh Uy

- (D) IRrs Gt

m#ﬁﬁihxﬁhmﬁrdﬁ:nmauaaradrng5
CIRIEYS

(A) i I a5R & BRor
(B) Tl SI9RY ¥ agat nferayf & sror
(C) faceh aaRY & ofy smedor 3 BRoT

(D) 3t A FHN B I B RO
B TR T T R

(A) BHEL

(B) ONGC

(C) Reliance

(D) NTPC

P I T T ¢
(A) 1BM

(B) NESTLE

(C) SONY

(D) L.LC.

https://www.ccsustudy.com
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/10“10. Was established in
(A) 1995

(B) 1960
(C) 1950
(D) 1947

22, Foreign Exchange Transactions are
- controlled by:
(A) Foreign Exchange Management
Act
(B) Reserve Bank of India
(C) Foreign Exchange Regulation Act
(D) Ministry of Industry
23. - the Development of Infrastruc-
/:Lh;e in our country, Government of In-
dia .develop 'BOT' mode. What "BOT"
means?
(A) Better Operate Technology

(B) Bombay Orissa Tripura
(C) Build, operate and Transfer

WO ApNISnsdd° Mmm//:sdiy

(D) None of above

247 Which is not the Industrial Association
of India?
(A) ASSOCHAM
(B) CII
(C) FICCI
(D) ADB

}Aﬂncmﬁng is also known as:
(A) Licensing
(B) Merger
(C) Joint venture

_(D) Special Selling Rights
NUS-1 5193\R\2021

(7]

21.

22.

23.

24.

25.

fora IR ST B T
(A) 1995 H
(B) 1960 ¥
(C) 1950 %
(D) 1947 ¥

feeht fafrma e Frafa fed s &
(A) Tt Rfvmg v sftfae

(B) Reid & 3ns $far grr

(C) foeh ffrra Forgmaor aftrforem gw

(D) 30N FAET ERT

HRA TOR J T & IMURYA 21d & fawra
¥ fore 'BOT Hiew famfam fsam 'BOT' &
T A9Y &7

(A) 3l 3TN THS

(B) T Fgrar FagRr

(C) i, I7anT a1 3R ERaARA B
(D) IRIH B T&

a1 a1 siefie da wRa o 7@ 87

(A) TRH

(B) W33

(C) fopart

(D) ud.&.

TR B FET A

(A) TR

(B) WGR

(C) gt 3uPH

(D) fdny Ry bR 10,

https://www.ccsustudy.com
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i 26.
26. In EPRG framework word Ethnocentnc

means :

(A) Overseas country is better
(B) Guests are better

(C) Own country is superior

(D) World is viewed as one unit

27. /vﬁne is: 27
"

(A) Wrong product
(B) Desired product
(© " Healthy Product
//(D) Enjoyable product
/58. Which is Current Asset?
(A) Cash at Bank
| (B) Machine
(C) Goodwill

(D) Fuffiture

WO ApNISnsdd° Mmm//:sdiy

same brand for all product, is called :
(A) Umbrella Brand

(B) Family Brand

(C) Individual Brand

(D) All above
30, Which is Brand name? 30

(A) Reliance
~ (B) Videocon
(C) lindal
(D) Thapar

NUS-15193\R12021 [8]

28.

ZQ)uﬁ:h an organisation use the one and 29

EPRG Saad ¥ Ethnocentric 91 &1 3iTery
&

(A) Tl wad dER &

(B) EWH FaR &R ©

(C) 31T AT TN S @

(D) ¥R U 3B B @ &
IRE & :

(A) TTeId IR

(B) sfma 3=

(C) W@y 3uE

(D) 3mrTeerl I

B Ty W &2

(A) ¥ ¥ Jws

(B) wdiH

(C) T

(D) ®HARR

39 D T o e It ¥ R ve &
§is BT ITART B &, Bewar &
(A) 3msten i

(B) URER wig

(C) =T ais

(D) IR W

o 7ig T &

(D) ¥R

https://www.ccsustudy.com

WO Apnysnsda mmm//:sdiy



WO ApNISnsdd° Mmm//:sdiy

https://www.ccsustudy.com

31. Packaging materials are used to :
/ (A)
(B)

(9

Deceive the customer
Improve the quality of product
Make the product safe and at-
tractive

(D)
32. Surf Axel is the Brand name of:

(A) Glaxo

(B) HLL

(C) HAL

(D) HUL

Conceal defects of the product

33. Which organisation started registra-
tion to Trade Marks in India?

(A) Trade and Merchandise Marks
| Act. 1958
(B) Trade Marks Act 1958
(C) Marks Act 1958
(D) None of above
34,_The fix of the Price Rs. 999 of a shirt
instead of Rs. 1000 is a policy of:
(A) Customary pricing policy
(B} Promotion pricing policy
Q) psychological pricing policy
All of above
3% Door to Door, Godown Godow
cility is provided by:
(A) Rail Transportation
- (B) Road Transportation
(C) Air Transportation

(D) All above
NUS-15193\R\2021

31.

[9)

35.

$f5tm amrdt &1 wavr------ ¥ e Rsar s
&

(A) WED! B rar &

(B) = P 5w ¥ yur &3

(C) I & it IR s T
(D) ¥ & Bt =

% v Jig A &

(A) T BT

(B) ©H.UA.UA. BT

(C) wa.ued. &

(D) vE.g.U&. &

WRA § B A TI57 3 e S TREA
3 TR fean?

(A) Trade and Merchandise Marks °

Act. 1958
(B) Trade Marks Act 1958
(C) Marks Act 1958
(D) None of above
v AT B Yrd 1000 F B I W 999 F.
<@ TN, TR &:

(A) Rersrar gea FrafRor A
(B) S Hed A
() R ga FraRor s
(D) IR® T
® A W, eam & Tew 7@ G @@
B &
(A) o1 aRaEes
(B) we® IRag
(C) urg uRae
(D) IR Wit
P.T.0.
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36. Full form of TQM :
~ (A) Total Quality Management
(B) Total Quantity Management
(C) Total Question Mark
(D) Trade Question Mark
37. According to W.). Stanton, the phase
of price determination process are :
(A) 6
(B) 8
(C) 10
(D) 4

. The” Government has right to price

o~
oo

~control on commodity by:
(A) Essential Commodity Act 1951
(B) Essential Commodity Act 1965
(C) Essential Commodity Act 1955
(D) /Es’s’éntiai Commodity 'Act 1975

are the example of:

(A) Status product

(B) Comfort product
(C) Mature product

(D) All-above

10. ich of the following is not a charac-
teristic of retailer?
(A) Generally sells goods on credlt

(B} Sell goods directly to consumers
(C) Deals in small Quantity

(D) Direct contact with Customer
lUS-15193\R\2021

_,F.‘IGthes, Sweets, Biscuits and butter

36.

37.

40.

[10)

39.

TQM 1 g B &

(A) Total Quality Management

(B) Total Quantity Management

(C) Total Question Mark

(D) Trade Question Mark

&Y. 3. oo b 99K gea feiRor afean
H TROT &: _
(A) 6

(B) 8

(C) 10

(D) 4

WoR @ TR W 307 Frr=or g 33
&1 sftrR 2

(A) JTaeas T Hffm 1951 R
(B) 3Mavard ] Jif¥if+em 1965 g1
(C) mevas avy siftifran 1955 g
(D) 3nawas awg fefram 1975 gRI
9, o g R wae sarewr #:
(A) R s &

(B) JEEHI I B

(C) 9RuTd IE &

(D) IR T

Wmﬁaﬁaqﬁmqﬁg?
(A) T SR T ey &
(B) ITHIENSH 2 e sy ey

(C) B W % s gy &
(D) Wﬂﬁ'ﬁmm-@mé
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41, For Business, marketing is:
(A) I:\Iecessary
(B) Un-Necessary
(C) Luxury
’,(D) Compulsory

42. Which is not the merchandising func-
tion of marketing?

. (A) Buying selling
(®)
()
(DY~ Grading

Storing of raw material

Standardization

43/ The Top most aspect in a business is:
_(A) Finance
(B) Production
(C) Selling
(D) Marketing
44.— "Marketing includes activities involved
in the flow of goods and services from
production to consumption®. This
statement is of:
(A) Clark and Clark
(B) Prof. Pyle
(C) William J. Stanton |
(D) Converse, Huegy and Michell
45. Oldest concept of marketing IS
(A) Marketing concept
(B) Selling concept |
(C) Production concept

(D) All the above

NUS-15193\R\2021

42.

fwom @ ol o aftrfsus arf = &7
(A) sa-awa

(B) T WAl B HOBRY

(C) YHTIEHROT

(D) &=

43.

45,

(1]

v AT BT TR, AEeyot vee &
(A fom

(B) e

(c) fam

(D) famom

“fyqores 3 g iR il 3 e & W
o & e o Rt weaferr B #1” 7
T & |

(A) TS TS TeAID Bl

(B) . At B

"(c) faferm 3. RIF

(D) T, T 3R Focrn

o ) e A RN

(A) Taoom EemRon

(B) fawa sr@uron

(C) F”H HAURON

(D) FRRB T .
' PTO
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49,

50.
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Mw institutiofi has to performed the 46.

tasks in modern era, which are-
(A) Marketing

(B) Innovation and Marketing
(C) Innovation

(D) None

Which of the following does not include 47

in the Marketing Research?
(A) Advertisement

(B) Distribution research
(C) Price related research
(DY All above

Which statement is correct? 48.

Marketing mix should be custom-

(A)

er oriented.
(B)
(®)

Marketing is a production process.
Marketing concept is a compo-
nent of selling.

Marketing is a burden in the field

of business.

(D)

According to Lazer and Kelley 'P' of 49,

marketing Mix are :
(A) 4

(8) 3

(C) 2

(D) 5

Which is not the element of Marketing
Mix?

(A) Distribution

(B) Advertisement
(C) Personal Selling
(D) Sales Promotion

[12)

50.

e gu % s sen @ FEay I

FATRIE, A&

(A) fRuos

(B) HamR 3K ffuue

(C) TEmR

(D) & &

Rrqors oiver & s < Frar onfae =t @7

(A) fsmes

(B) faeRor oy

(C) qra wwafem oy

(D) IWyE T

3 o1 B T &2

(A) fmom fisor st afingedt @
arfeel

(B) QU e 3aure s 1

(C) fauom srmuRen g & v 30 2

(D) TR F & # R vd sk

PR od B & AR fuor fsor & ¢

&

(A) 4

(B) 3

(C) 2

(D) 5

7 Ruor fystor o aeg wf &2
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-
/51,/6/which 'P' of marketing mix is relat-
ed to transportation, warehousing and
storage:
(A) Price
() Product
(C) promotion
(D) Place
52. iEﬁ of the following is not related to
" Micro-environment?
(A) Suppliers
(B) Customer
(C) Marketing Intermediaries
(D) Technical forces
53. Which of the following is not exteral
/ force of marketing environment?
(A)  Economic environment
(B) Consumer demand environment
(C) Company Resources

(D) Demographic environment

WO ApNISnsdd° Mmm//:sdiy

54, Which of the following is not concemed
with Economic Environment?
(A) Tax structure |
(B) Government policies
(C) Demand determinants
(D) None

‘5/55’rnotional Motives are:

(A) Internal Motives

| (B) External Motives
(C) (A) and (B) Both

(D) None
NUS-15193\R\12021

51.

53.

55.

[13]

uRae=, Al TRM 3R wogRoT favor fysor
P o O A Tl &

(A) 5T

(B) =

(C) o dag

(D) .

Pt % ¥ Fa ge R ¥ wrafua A
g

(A) 3mgfciat

(B) UED

(C) Tauvm Ay

(D) T wfendt

ey ¥ @Y Room vafarer & amer ofts &
#?

(A) 3R wafaun

(B) 3qvYest Wi gafasor

(C) T ¥ T

(D) Sifea) qafaroT

ﬂqmﬁm_m%mﬁmqﬁﬁ?

' (A) IR

(B) RSN et
(c) wm HuRs

(D) FRITE B T
WIET® ISR &:

(C) (A)wd (B) A
(D) =
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Who classified the buying motives o"
the basis of Emotional and Rational
buying motives?

(A) A.H. Maslow

(B) Edvin B. Flippo

(C) M.T. Copeland

(D) None
"Market segmentation is the strategy

of dividing markets is order to conquer
them."” This statement is of:

(A) Stanton

(B) Davor

(C) Robert

(D) Smith

The market is segmented on the basis
of . . htips://www.ccsustudy.com
(A) Geographical factor

(B) Social Factor

(C) Psychological factor

(D) All above

) ;ncﬁme segmentation is target which

of the following group?
(A) Lower Income class’
(B) Middle class

(C) High class

;fD} All above

Which of the following is not a advan-
tage of differentiated marketing strat-
egy?

(A) Customer oriented

(B) Increased sales

. (C) Cost-economies

(D) None

[14)

56.

57.

59.

0 ROl @ s vd fdept wy

Sromait 35 W A Ry e fosar 21
(A) ©. Tg. A%
(B) usfdw &, e

Y B o & afs 3 w e ga

o G| a8 U &

(A) BT DI

(B) SRR @

(C) g &1

(D) T &1

TR fawieaur & fore B ameRt &1 wanr
fowar e &2

(A) whfes

(B) w3

(C) wdenfae

(D) 3WRrE I

FrafoRaa wagt o ama faswRse<or fswa
ot s &2

(A) T 3ma

(B) wemw it

(C) = &t

(D) FH T
o YRa Ravm Ay o e a8 2

(A) TES e @
(B) fera # gfx
(C) omrar F anfh
(D) = Tl
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51:I,'€U5tomer5 of consumer products are:
(A) Producer |

61.
.. (B) Final consumer
7 4C) (A) and (B) Both
(D) None
de which are not included in In- 62.
dustrial products:
__{A) Speciality Goods
(B) Fabricating products
(C) Equipment p'roducts
(D) All of above
w-:h of the following is not a shop- 63.
ping goods?
{A) Groceries

(B) T.V.
(C) Furniture
(D)-None
64. Thdicate whether the following state- 8%
ments are true !
(A) There is no importance of product
from buyer's point of view.
(B) Every product is a separate brand.
(C) Product mix is not influenced by
any factor.
(D) There is no difference between
' consumer product and indusﬁrial
duct.
63. Whicirzf the following is the first step 65.
in production development process?
(A) Business analysis
(B) Screening of the ide;ns  gons
(C) Creation of new produc
(D) All above "

NUS-151931R\12021

ITRIFET 3G B TED B &
(A) 3D

(B) 31w Iuvires

(C) (A)Td (B) 3t

(D) ®F =&

s =g § 3 e e < A, &
(A) fafre awg

(B) QK B THge

(C) JUGRT TR

(D) IRIH it
fadhe awqe - T &2
(A) TRERY

(B) &4

(C) ®RR

(D) DE &
= & B 1 B R &

(A) ipaT B gRE A IR B B Feed el

=
(B) mm@mmma -

(€) 7 frm B N we N wfe

el &l

(D) 374! e et aifehfires Seme # %

3R TR &l

Fretfefaa & @i s o yisar @1 7=

WOT &7
(C) qﬁ&ﬁﬁﬁaﬁ‘[’ Y 7 G

(D) IRrp aW

PTO.
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.j,' . r
66, Which of the following is cause f

68.

Product Elimination Decision?
(A) Declining in Profit

(B) Falling Prices

(C) Declining in Sales

(D) All above

. Principles of product development are:

(A) Principle of Specialization

(B) Principle of Simplification

(C) Principle of Standardization

(D) All above
_*Marketing is the delivery of standard"”
this statement is of:

(A) Paul Mazur

(B) Kotler

(C) Henson

(D) None
P

69. Brand is :

-

_{A) Compulsory
(B) Un-Registered
(C) Registered
(D) None

70,/ Creating new markets for an old prod-

uct or a market for a new product re-
quires:
(A) Creative salesmanship

(B) Competitive salesmanship

_AC) (A) and (B) Both

(D) None

Ail® aranairminnsd

-

66.

67.

68.

69.

70.

e B 3eE oReam Fofg 9 & IR0

&?

(A) @ & firmae
(B) wFal ¥ T
(C) e # firme

(D) FRH TN
Jaqra Ty o R &

(A) R o g
(B) wReraRoT & g

(C) grmdrexor T RagT=<t

(D) 3wfw F

PO FEH TR FEH BRAT & TE DU o
(A) dfer TR @1 |
(B) ®IceR &

(C) &= @I

(D) @I =8l

s &

(A) S

(B) 3OS

(C) dstiga

(D) @1 T8l

vF [{M IR & foe 72 sR o o ©F
TR & fow 2 Fane s9W 3 e smaweed

&
(A) T T wen
(B) wferanh Rsa e

(C) (A)Td (B) &
(D) @ &l
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M ABC analysis of inventory control,
the least costly items cover under:

(A) Category A

(B) Category B

(C) Category C

(D) All above

72. TFhe ba;ic function of Branding is:

(A) Attraction

(B) Identification

(C) Protection

(D) All above

P/‘fhe basic function of packaging is:

(A) Attraction
(B) Identification
(C) convenient
) (D) Protection
74. eling is:
(A) Wastage of money
(B) Necessary
(C) Voluntary
(D) Compulsory

75. When is testing writing word, colour, de-

sign on packing this test is known as:

(A) Dealer Test
(B) Consumer Test
(C) Visual Test

(D) None
NUS-15193\R\2021

71.

72.

73.

74.

75.

[17]

<gfrar frg=aor @ ABC fawdiur &, fAwtam
AT aTet avge AR &
(A) Soft A H

(B) softB#H

(c) softcH

(D) IR Wl d
fic &1 g0 oRf &
(A) 3TEHor

(B) UedH

(C) qRam

(D) IR T

$yiim o1 Aifte o1t &:

(B) ANOHD

(C) tRes

(D) fard

19 1T W Ry we, <, TS & =g
B T 31 39 i B E ST &

(A) SAARY qaror

(B) IuHreeT gtaror

(C) QT TRIEOT

(D) @ &

P.T.O.
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76. A

77,

78
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sale services should be :

(A) At Cost

... (B) Free

(©) A?cession
(D) .l} above
Aftér sale service in sale of automobile

IS

(A) Compulsory
(B) Voluntary
(C) Necessary

(D) )l#above

. ‘]:réstages of product life cycle are:

S (A) 6

79.

80.

(B) 8
(C) 4
(D) 2
Product like People have life cycle.
Choose correct option:
(A) Misguiding statement
| (B) Confusing statement
(C) Correct statement
" (D) All above
"Price is a monetary summary of all
the conditions which give value to a
product”. This statement is of:
(A) William J. Stanton
(B) R.S. Davor |
(C) Philip Kotier
(D) Walton Hamiiton

NUS-15193\R\2021

76.

77.

78.

79.

80.

[18]

(A) @mE R

(B) Hw

(C) TN &R W

(D) FRres At

IR & 3 § AR ..
-2l )
(A) sfFard

(B) thos

(C) HETS

(D) IRrH welt

T SHa T B HIE B &

(A) 6

(B) 8

(C) 4

(D) 2

wfepal @ ¥ifer 3 & ot haw up dar
2| w8 Ry &1 g

(A) TFRIE @R aleTl U

(B) Jereaqel BU=

(C) W& T

(D) IWFEAM

PAa 3 T 2ol o RS WK & A @
I B e W Rl &1 Ig He &
(A) fftrma Req e

(B) FR. TH. SIaR &I

(C) fisfer dreer @1

(D) dleed effee &
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3Vf(:eétzrmination is affected by:
(A) Elasticity of Demand

(B) Cost
(C) Competition

(D) All above

. Ski : , ,
g/z/uﬁder kimming Pricing Policy, the

83.

%

price of @ new product fixed at the ini-

tial stage is :

(A)

(B)

(€)

(D)
sh discount is provided to:

Minimum
Low
High

All above

(A) Traders

(B) Customers

/

(C) Producers

(D) All above

When a buyer is responsible for all
costs from factory place:

(A) Ex-factory

(B) FO.R

(C) Current Price

None

is determined by:

(A) Nature of market

(B) Type of market

(C) Buying habits consumers

(D) All above

P
NUS-15193\R\2021

81.

84,

[19]

85.

et Prufcor mfye g &
(A) WM B AT

(B) W@

(C) wfcrifirr

(D) 3wres Wit
wiereet geg frrefRor A & sl T 3G T

qed 3@ SR 2
(A) =™
(B) T

(C) s

(D) * KD TH
e g e b el &

() TmRal B

(B) WEar B
(C) Imad! B
(D) IR aN B

& e S T ¥ W e & e

(A)
(B) Y& W1 T

(C) oL

(D) @ =

RreRoT ez () fews g far St
27

(A) TR BT @YW

(B) ¥R & 6w

(C) Favirest B HI I

(D) FRYes Gt

Ex-factory

P.T.O.
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86. SBhortest channel of distribution is: 06, Rereor 5t T:'?Iﬁ e &
/fA) One level channel (A) & TR e
(B) Two level channel (B) 2w e
fC) Zero level channel (€ I wRIA et
(D)~ None (D) Eﬁ\é T
hich of the following is the key link be-  87. Frafafag # sere 3k Feax fan &
tween producer and retailer ? e g T €
(A) Owner .(A] @l
(B) Wholesaler (B) el fasem
(C)_Salesman (C) Tawwar
(D) None (D) B &
88. Decentralised buying and centralised  88. fadfFaa &a 3R Bivsa fapa faw! v
selling is a feature of : & . |
(A) Departmental store (A) Ry yosr &t
(B) Multiple shops (B) sgF=® gl B
(C) Both of the above (C) IWrp 24t B
(D) None (D) aﬂ—g Ter
89, Retailer is chain between: 89. PR fagsar & &
(A) Wholesaler and Consumer (A) i fgsan 3k Jusies & &g
(B) Producer and Consumer (B) 3I4E® 3R Jaxrsr & g B
(C) Producer and Wholesaler (C) s 3R O Fp s A D
(D) All above (D) I Tt
90/ The Right Distribution Channel of Con-  90. 3UIthT Tl &Y W& et anfet &
sumer goods is: (A) PEaR ﬁ'ﬁiﬁ-m Y p——
(A) Retailer-wholesaler-Consumer
(B) Producer-wholesaler-Retailer- £ B ST G mhw R
- Consumer ! | “ITHIET
(C) Producer-wholesaler-Consumer L (C) IRt fpanr-3usirent
(D) None D) B
NUS-15193\R\2021 [20]
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W means: 91. wMs' o 3 &
(A) Vertical Market System (A) SFIFTR TSR JOTel

(8) Vertical Marketing System (B) Wﬁumq fafer
(C) Various Market System (c) fafm fvom yomedt
(D) None~" (D) @ &
92. The fanctions of Distribution Channels 2. faaror el & @1 & 2
\_-are:
(A) Flow of goods in due time () ¥TEr ot S o R T
(B) Flow of goods at the right place (B) e Y W WM W TgAM
(C) To protect goods from damage in :
the way (C) IR A o 3 afera 29 | S
(D) All above (D) JRres Jw

g3, Which of the following is not the phys-  93. P & e Wiy ez o wwr e 82

_" ical distribution cost?

(A) Cost of inward transportation of (A) HTeT & 3T GRaE B R

(B) Wit & Frfar wRae=t o et

goods
(B) Cost of outward transportation of (€) o R & g1 TE TE HISROT
goods ' A

(C) Cost of storing by wholesaler
(D) st of insurance of goods in transit

(D) @niRer A $ 49 B A
04, TF W BUA T &?

ich statement is True?
(A) Development of industries has

resulted in development of trans- (A) Feni 35 R ¥ ot o R o
portation.
(B) Development of transport and in- 8 of - WP
- dustries go together. Fa o fawr
(C) Development of transportation |
has resulted in development of () wRae R A i &1 o g
industries. . . ‘
(D) Both are not related to each other. (D) AU TR et 78 &
M;rehouses are manufactured for: . 95, WUSK TR &I S & -
(A) Raw-Material (A) T WE & fore
(B) Finished Goods (B) it wme ¥ fere
(C) Final Products () 3w Jaz % fore
(D) (A) & (B) Both (D) (A)Ed (B) A
[21] PT.0.
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96. A sold his house to B and gave ts pos” 9. AT B 2 & far 3R 3 o

sesslon to him. Whether It Is a Phys!ca! o W 2 & T A Wi feor @7
Distribution? . (A) B gEHar 4
o e 0 e
(C) Certainly yes (€ ik of
(D) Certainly not (D) P =&
97. According to Hasty and WIll, object of  §7. ¥ vd Riet ¥ ER, Fad & R &
' promotion is: :
(A) Demand objectives (A) ¥ 3t
(B) Specific and performance objec- (B) Tiftre vd Fura 2w
tives )
(C) Communication objectives (C) ¥aR e
(D) Al above {D) FRrep qN
98. Distribution of free samples, coupons  98. qw g, P M a1 fror sy oy #
etc. Come in the category of : 3l &7
(A) Clearance of old stock (A) R TS BT FRaRor S
(B) Advertisement ' (B) fa=ms
(C) Sales promotion activities (C) Tapy Had= fraw

(D) Attracting new customer

(D) 2 UED! DY BT B
99/Promotion word taken from:

9. wad= wies forar T

(A) French Language (A) HT WMT

(B) Latin word (B) ATy 9

(C) Italian Language (C) geferm v

(D) None (D) @ 7

100, Which statement is more correct? 100. B W B 3t T #?

(A) Sales Promotion helps in personal (A) Toea = dafes Rimg 3k R
selling and advertisement A T

(B) Sales Promotion helps in erson . ;
selling only, P ’ i () R A bl s i

(C) Sales Promotion helps in adver- R 3
tisement only. (C)  fermar <o dpact Ry #F wrarrs 21

(D) All above (D) B W .
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